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1. MU ZERT 49 e & Yo 60 M0 HH-a@e 2o & AR | v fafda oder &
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You have been called for the written test based on the online data furnished by you in the web application.
if you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected,

2. 994, 80 WAl ¥ yod WeA-yReadH & w0 F § AR afew & afy 90 e #

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. AN [Awedl Aigd FEse TR & ¥ g O & % we aniflew w7 @ @ e

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9cAF W AT 01 37 g 3N vA% Iad Ieal FAT 0.33 3T Hler AT
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

$9EAT @0 56 ZE/P.T.O.
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11.

12.

13.

14.

15.

Teet ¥ Feal &Y & AU wider RO wfa wfed e MTANR SeeR-qfeawT & e
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

mmmmaﬁmw#mmm-gmﬁmammm
FX HET 3T & I HLE ol

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

TF WA F AT 3 36T AT Ieax AT SAem|

Multiple answers for a question will be regarded as wrong answer.

IR oY P ¥ ARG TA-gRgH F Fs Hl HUANR Icqr-qffaer 7 fou v e 5%
fergan =ifewl

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.

ges-fecT & IS A T A T fod |

Enter your Name and Roll Number correctly in the question booklet.
mmm-mﬁmmmmmﬁﬁamﬁaﬁmmn
All entries in the OMR answer sheet should be with blue/black ball peint pen only.

qdieq i & e $r sufRufy 7 & e gie-tHee W gEdIE FeT ATl

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Rt gt Tee &) ffd & oY HOIEY, FEFHcy, RAEE B G0 U FaRias
FYEROT, UTET-TEE, Ale Wiy A Y weniy S8t 4§ s

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall. @

ofien qol A W, HITANR Ie-ORad B FR % dedl [MEd @ w8 AR AF AGHR
Sea-qRae fers @ dit For qull ufd o 9| W)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

weet-qfeaeT Il A oTE @ HRd g
The question booklet can be retained by the candidates.

qftelr & 2Rt sreafiat Fr oleT g S A AT 76 ¢

Candidates are not permitted to leave the examination hall during the examination.
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Ty e 81 A1 & fav fAeld e gt fr g 7 82

A beam of length 7" is simply supported at two points located at 1/3rd of its span from either
end. What is the number of contra flexure points for the beam?

(@ 3 b 4
@ 2 Gy

A e mar A sud &g 9w 200 kN & 97 & 3efer o Faod & Qe 7 gofar §1 had
ﬁmmr—r@rﬁml

Figure below shows the configuration of a cable subjected to a load of 200 kN at its centre.
Find the tension in the cable.

R
v
200 kN
(a) 167.7 (b) 125
(c) 150 d) 250

UF fIF 100 mm FHr HFE IR 500 mm B TRE F Y HAABR H[TEY FIC § I 5T
Hg 9T 500 kN @7 &Hfed s o Far g1 69 f 30=an Ry sar § 5T 120 MPa &
HTRT et vfder A 3w e foem smael & sefdd frar S awar €7

A beam is having rectangular cross section with a width of 100 mm and depth of 500 mm
carrying a concentrated load of 500 kN at its centre. What the maximum span of the beam
which can be simply supported without exceeding a permissible bending stress of 120 MPa?

(a) 45m (b) 30m
¢/ 40m (d) 50m
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A cable resists external loads by

(a) % &@RT/ Bending

(b) TS ZaRT/ Compression
(¢} T ea@RT/ Tension

(d) & AR IdEA @I/ Bending and compression

AH @ fFa A &1 39aer A F geaae gwca & RuiRa #&= & fav fear 57 @@ 87

Which among these methods can be used for determining the mass density of soil?

(a) ' ST =R fAT/ Water Balloon method

(b) UTSHAHIET / Pycnometer

(¢) U=cd daw / Density bottle

(d) ¥a T/ Sand bath

3N SR arell 7 g & AHA 1 3ae F @A W 3/ AR 2.7 N 11 g1 B &7 9
AET 41 872

A moist soil sample of weight of 3 N, when dried in oven weighs 2.7 N. What is the water
content in the s01l?

(a) 10% ®) 11.1%
) 90% (d) 46.6%

FIeAT HI THEY F o1 gagR foraas 3o gfderd & SROT g1dr g2

The swelling behavior of black cotton soil is caused by the higher percentage of

(a) HAlEARARTSE / Montmorillonite (b) Westa/ Feldspar
(¢) T +EMAE/ Calcium Carbonate (d) AR 3HFa83 / Iron Oxide

AERoT Gidels @ F 9 # uiaed g §

The percentage of lime in ordinary Portland cement 1s

(a) 65% b))  75%
© 25% @  50%
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10.

11.

12.

13.

14.

UTHIHRY &7 39ART FaF AN & fao T smar 82

Passometer is used for the measurement of

(a) 9T/ Speed (b) @A/ Slope
(c) IT/ Angle (d)  g&dl/ Curvature
U ST I T & 399 T &= & e v a@mar 2

A French cross staff is used to set
(a) SEEIF{T T A 450 & HIUT/ 450 angle from the chain line

(b) ﬂ_’&l?ﬂ @1 ¥ 900 &FT FIUT/ 90° angle from the chain line
(¢) @t () 3T (b)/ Both (a) and (b)
(d) AT @ § H1E # HIT/ Any angle from the chain line

qaRT ga T AfT FoT F1 AT R E?

What is value of dip at magnetic pole?

(@ ©0° (by 22.5°
() 90° (d 45°

TR & ENGeT 91T 3 & &30 &1 Rger &0 150 m &1 B3 9 d9w e & Sfdr
1.8 & 3R &a & 7 & ¥ag W 3oa1 I 970 wee o T 3.2 ¥ v TR q s a7 for
Fas fohastt g7

During leveling, it was found that the reduced level of the floor is 150 m. The level staff

reading on the floor is 1.8 and the reading on the staff held upside down against the surface of
a roof beam is 3.2. What is the height of beam above the floor level?

(a) 32m (b) 1.4m
(¢) bm (dd 6m

TE S TR N qeen F wE SO A & wART waew wfmeE ST R
T 3 &

The maximum effective slenderness ratio of the compression flange of a steel beam against
lateral torsional buckling is

(a) 250 (b) 100
(© 300 d 180

@tﬁm%mmmﬂﬁm%ﬁm%wmwaﬁw%

The minimum angle of inclination of the lacing bar of a double laced column with the
longitudinal axis is

(a 75° (by  40°
() 10° d 20°
5 1483



15.

16.

17.

18.

19.

Ao srgeen Besa #, 3Tud & AT 39Aar T HiflE HET IR ©
In the limit state design, the partial safety factor adopted for steel is

(a) 115 by 15
() 1.25 (d 1.2

UH a¥ & IHd # @hie 1 fIA9er IO §
The creep coefficient of concrete at the end of one year is

(a) 22 b 1.6
(0 11 @ 1.2

6m Gy 3N 4 m TN TF IAER G Al A gl 120 m¥/s & TP WIS G F4T g2 )

Discharge through a rectangular open channel 6 m of wide and 4 m deep is 120 m%s. What is

the Froude number?

(a) 0.7 (b) 0.85
© 08 (d 0.72

0 & gl & AT 3RFaR 3T faear W g

The maximum permissible turbidity limit for drinking water is

(@ 5 b 7
(© 10 (d) 3I9Uad A ¥ HIS 781 / None of the above
. 1 -2 -1
gy FiF AT R A=(-3 3 0
2 2 4
1 -2 -1
Find the rank of the matrix A={-3 3 0
2 2 4
(a) 3
b)) 2
(¢ 1

(@ TuiRa 78 BT ST HHdr/ Cannot be determined
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20.

21.

s

23.

SIS L W U T el 9 ARy W oue g aR W@ @1 fiF & faeieer 3R
ol T AT AT ffaIw)

A simply supported beam of length ‘L’ is carrying a point load W at the mid-span. Find the
ratio of deflection to slope of the beam.

(a) LJ3 ®) L2
() 3L (d 2L

o fF AR & R § qulEn B, vk M geuHAnt & sl H UH GG HIAd §AdE W P ey
¥ BIST AT §| WA GATA FT FFE HoT 6 § AR =dor qunis w1 A p < tan 6, A sAlw
aﬁmmwwﬁgQaﬁqgﬁﬁmmmm,aﬁmPQq%

A block of mass M is released from point P on a rough inclined plane with inclination angle 6,
as shown in the figure below. The co-efficient of friction is p. If p < tan 8, then the time taken
by block to reach point @ on the inclined plane, where distance PQ = s, is

p
2!
g
e}
2s 28
@ \/ gcostan & — u) ®) \/g cos&(tan @+ u)
23 2s
© Jg sin &(tan & — u) @ Jgsin O(tan @+ u)

frafaf@a & ¥ OSefex #1 39t w3 @i a1 o1 AT Frer §?

Which of the following 'property is measured by using Piezometer?

(a) 39T/ Velocity (b) Zd1d/ Pressure

(© ¥1T §r/ Discharge (d) AT/ Viscosity

Zarg Y 3R 3w o & AT A St arelr YW B FEr I §

The line representing the sum of pressure head and datum head is termed as

(a) gaarfeld 999Tar ¥@T/ Hydraulic gradient line

(b) Fe FiT @M/ Total energy line
(¢) dATAHT @I/ Equipotential line
(d) 3TUR @7/ Datum line
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25.

26.

27,

28.

29.

30.

3L

18:456-2000 & IFAR 6 m F A %ol iF & NI & AT ATH AT 7T &
Minimum stripping time for prop of a beam spanning less than 6 m as per IS:456-2000 is

(a) 7f&A/days (b) 14 R+ / days
(c) 21f&/days (d) 28 R&A/days

Tl # ¥ B wfd e s@da &9 & 3ideta anar §2
Under which of the following seismic zone does the Trivandrum fall?
(a) SWeT/Zonell (b) SN/ Zone III

(c) ST/ ZonelV (d) ST/ZoneV

Afafea & ¥ sia @1 daenfaw gerd A8 &2

Which of the following is not a pozzolanic material?
(a) oIS QLA / Fly ash (b) Tafee 71/ Silica Fume
(¢ TfRH/Gypsum (d) Heplas / Metakaoline

IS 456:2000 F 3TAR M20 I3 dwhic AT & HAiggaT T 41 gem?

What will be the modular ratio in a M20 grade concrete mix, as per IS 456:2000?
(a) 4.67 (b) 14.00

() 13.33 (d  42.00

&Y orel & U @i BHA 9T Fa 7 MM D AAH] FT 57

In a simultaneous throw of two dice, what is the probability of getting a total of 7?
(@) 1/6 b 14

{c) 273 d 34

Freafad AFcal auT 70T X@T & fr T F 1 A HoT FHgerar §

The horizontal angle between the true meridian and a survey line is called

(a) ﬂﬁiﬁiﬂ a3/ Maénetic bearing (b) &3/ Azimuth

(c) §'S|>FIT/ Dip (d) ?_-I:Q'T:ﬁl'q' %’W! Magnetic declination
T Arga &1 qU e SHRET 1800 B, A sHenr Ragw 3 ¢

If the whole circle bearing of line is 1809, then its reduced bearing is

(a NOE (b) SOE
© S d N

Ref@a § & 59 3% F1 3TN aEar F gdea § e & v Far s g2

Which of the following curve is used to prevent overturning of vehicles?

(a) TIFAF a& / Compound curve (b) HEHEHUT §F / Transition curve
(¢ <€ad d% / Vertical curve (d}y  37TET d% / Reverse curve
8
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32.

33.

34.

35.

36.

37.

e &1 FIRAT goid fhad €I &1 9T 87

Toughness index of soil is the ratio between

(a) WO q\aw 3R @ Hjﬁﬁlﬁ / Flow index and Plasticity index
(b)) IR W IR TRear B\ﬂﬁfﬁ/ Flow index and Liquidity index

(¢ vonfEf®d H@W 3R yaE H‘:fﬁ?i?/ Plasticity index and Flow index
(d) oerar " AR ceif¥es @AT/ Liquid Limit and Plastic Limit

1S:456-2000 & IHTHR, T FEFR0T & HOhaa & U s L g
fear aran B, regemer i wis$ = b, ¥H IS = D 3R YR TS =d

As per 1S:456-2000, the maximum area of tensile reinforcement shall not exceed
Given, width of the section = b, overall depth = D & effeetive depth = d.

(a) 0.4bd (b) 04bD
(c) 0.04bD (d) 0.04bd

100 m2 T 1 O T FaE T 1:6 WHe AN & 39097 N 12 mm A wareler & [{e
HrEegs deie 1 A g

The quantity of cement required for 12 mm thick plastering using 1:6 cement mortar over
100 m? of brick wall surface is

(a) 0.200 m3 ®b)  0.247 m?
(¢) 0.274 m3 (d  0.295 m?
TIART AT & Qfer &

In highway construction, rolling starts from

(a) TR & URFH e $g $I X 964 &/ Sides and proceed to centre

(b) Fg A TRFH HF IR Fant $r 3T §ga &/ Centre and proceed to sides
() UH ai® U YHFH & E,:H'fl' P FEd &/ One side and proceed to other side
(d) I9UFT FIT #T/ Any of the above

HFT o & AT gE@w IS 5 Fi ar §?
Which is the relevant IS code for seismic forces?

(a) IS 456 () IS 800
(¢ 1S875 (d) IS 1893

Ae@a & @ si9 @ Nagsy g J86 &7

Which of the following is not a Greenhouse gas?

(a) CHC ® CH,
© CO, @ N0

9 1483



‘pH &Y egeufcd a1 82 (H* HAloR gIggIsid 34+ Higal &I eiar §)

What is the derivation of ‘pH'? (H* denotes the molar hydrogen ion concentration)

(@) pH=log, [H"] (b)  pH=log, [H*]
(¢} pH=-log, [H"] (d) pH=-log,,[H"]
foEuT &7 MU 9Ty &

The base material for Distemper is

(a) =g/ Lime

(b) d%e AT/ White cement
() TarFey % 9RA / Plaster of Paris

(d) =/ Chalk

ol 7 9 A & 9T qud & gaa &1 quiish o6 FHIRT carr fear smar €7 i
AT B, p=UISHT IdId

The co-efficient of earth pressure at rest is given by which of the following equation?

Given, ¢ = Poisson’s Ratio

@ 124 ® Lt
M
H

(c) I

+

i
@ £
H 1-u

fArfafaa & 9 &g AU Yomer #§ 3aEdig fFar gxdr 82

In which of the following sewerage system anaerobic action occurs?

(a) Bftew F/ Septic tank

(b) araeT &/ Aeration tank
(¢) R=ma ®6eeX / Trickling filter
(d) 3iTFERIOT @S / Oxidation ditch

10 1483



42.

43.

44.

43,

46.

v R @7 1 kN/m IRATOT &1 9R 38R0 U 918 W A &9 § @aRd & g
e 38§71 A Aegel gids fi7 § wulia & Rar Sw, aF 797w & qeen & 35 @7

F sftaaw [@Rivor &1 e g

A fixed beam is subjected to a load of magnitude 1 kN/m uniformly distributed along its full
length. If the boundary condition at both the ends are changed to simply supported, the ratio
of maximum deflection of this beam when compared to that of the original beam will be

(@ 5:1 b 8:1
© 3:1 b 4:1

5 m fORyia & HiElax €| H7 AR farqor F41 §, FSHHT 9= HHOT IRG 2 Nm Farg
3R € F T & SRR S B OTF AT B2

What is the maximum deflection of a cantilever beam of span 5 m, whose bending moment
diagram is a rectangle of height 2 Nm and length equal to the span of the beam?

(a) 50/EI (b)  83.33/El
() 25/El (d 10/EI

farafaf@a & @ 5 uad #F diges & 39T &1 §a8 937 7ed gle AT 390 8?

Which of the following material is expected to have largest value of Poisson’s ratio?
(a) W=/ Gold (b) .. ISX/ Rubber
(c) ©a$gs/ Plywood (d) grT/Diamond

TH AFE FT HTH ¢ 50 (-0.012 & —0.026) § oI 39 #Aifaw [Aies 3 ggaar s g

A shaft has dimension ¢ 50 (—0.012 to —0.026). The respective values of fundamental deviation
and tolerance are

(a) -0.026,0.014 (b) -0.012, 0.014
(c) -0.026,0.007 (d -0.012, 0.007

2 cm EAH Y TF AR B8 W A9 31.4 kN & ded AR &7 Sl & aF 30 cm &Y d&rE
# 0.12 mm Hr g g ¥ 3T A A 0.002 mm F ARG BT Tl HIRIOT HUTEF AT
Hifawl

A circular bar of diameter 2 cm, when subjected to a tensile load of 31.4 kN produces an
elongation of 0.12 mm over a length of 30 cm and change in diameter of 0.002 mm. Find the
Shear Modulus.

(a) 250 GPa (b) 100 GPa
(¢) 150 GPa (d) 200 GPa
11 1483



47.

48.

49,

50.

200 mm FSTT 1 F B AMAER TH, AR AR FE W @ L, A 39F fhE @3 F a9
deltT FEGY el gem?

A solid circular column of radius 200 mm does not experience any tension in the section, if the
load is acting

(a) 200 mm F G F WA/ within a diameter of 200 mm

(b) 100 mm ¥F S &F WA/ within a diameter of 100 mm
(¢) 150 mm & fASAT #/ within a radius of 150 mm
(d) 100 mm & TI5JT F/ within a radius of 100 mm

S ‘d Al JeAFR T FE F Th O AW F T & aenmeel & e wiwe
mqﬁaﬂ‘m’m%laﬁmﬂqﬁ3gmwﬁmmaﬂtemﬁﬁmmtﬂmﬂl
S, A AEE W IHUFIA HIwTF iadd g

The maximum shear stress in a solid shaft of circular cross section having diameter ‘d’ when
subjected to a torque of “I” is ‘v’. If the torque is increased by 3 times and the radius of the
shaft is halved, then maximum shear stress on the shaft will be

(a) 24 r (b) 37
© 127 (d) T

AR S IF FTATNT T Hr Sifaw 3HRadar & B Ag fw

Find the degree of static indeterminacy of the planar structure shown below

A

V7TIT7ITTTIT7
(@ 1 (b) 2
(© 3 (d)

0 @F 9T TERE I warde e & fv, sueey w@dy TRy Saais &y
& g

For a linear elastic isotropic and homogeneous material, the number of independent elastic
constants available are

(a) 4 ® 3
© 2 (d)
12 1483



51.

52.

53.

54.

55.

Fehle HT TS ATFT AT FA & T 39ATT 6T S arl fHeisy Ao &1 R 741 82

What is the size of cylinder specimen used for finding the compressive strength of concrete?

(a) dial50 mm x ht 300 mm (b) dial50 mm x ht 200 mm
(¢) dia 150 mm x ht 150 mm (d) dial50 mm x ht 250 mm

ey feyer-gamer yoel i grhfas smefed #ar ¥7 diE 3 ea wAaS & AT & quE
a1 IR & selieh # gegAE ‘m' § AR B udiE ke SR ke ® S R s F R
T g

What is the natural frequency of the spring mass system shown below? The contact between
the block and the inclined plane is frictionless. The mass of the block is denoted by ‘m’ and the
spring constants are denoted by ‘k:’ and ‘k2’ as shown below.

(a) LR (b) Ry +hy

2m 4m

() \f ﬁ% (d) ﬁ;_l’iz

I IRIFIAT GRIBTOT SFRT 9o WIS 1 il AT I[OT 6T HG BIaTr 82

Which is the property of cement obtained by Air Permeability test?

(a) %I&?IT/ Fineness (b) UR{Ae AfET AT/ Initial setting time
(c) €afAN / Soundness (d) TSI #T ITHAT / Heat of hydration

UF qeH A ol 7S AF YT B FAE 24 om B) 9 T Ul F @@ ag 5§ AHA §, O Fa
20 cm BT &1 IT & Foler HT T T

The height of moist sand taken in a cylinder is 24 cm. When it is fully inundated in water, the
height is 20 em? Find the bulking of sand

(a) 22.5% (b)  25%
() 20%. d 12%

FhIE AT F TF JTABR AHA A FdgA afFT 20 MPa Bl I SR At @ 3uda
forar ST & d@dsa afea ar giefre

The compressive strength of a concrete mix when tested using a cylindrical specimen is
20 MPa. What could be the compressive strength obtained if cubical specimen is used?

(a) 25MPa (b) 30 MPa
(¢} 16 MPa (d) 20 MPa
13 1483



30° fasme @07 AR 16.2 ym? H AT Fegel &HAT arell AL W wFaAifaad narehg s &
foior & faw g $f 3aeEs FgHaH TEUS AT F A FT as 1200 ke 9 m3 )

Calculate the minimum depth of footing required for a residential building proposed to be
constructed on a soil with angle of repose 30° and safe bearing capacity 16.2 t/m2. The soil

57.

58.

59.

60.

weighs 1200 kg per m3.

(a)
(©

1.1m (b) 1.5m
0.9m (d) 1.2m

Rirer wf@er dies & fawrd o7 woF arel AR A1 =gaFad A fra &2

The minimum thickness of wall that can be laid with Single Flemish Bond is

(@) 2§ A &ar/ 2 brick wall (b) 1€ #r &ar/ 1 brick wall

© 1% %c & §ar/ 1% brick wall (d) 1% $e & AR/ 1% brick wall
vaifiele & AT 3ad ufewe e FT qAT A & fow fFar s g
Deval attrition test for aggregates is done to find the

(a) TATE@ $r 2T/ Rate of wear (b) HG{E!'\Eﬂ' / Toughness

(¢) HBRAT/ Hardness (d) ST HGAWUT/ Water absorbtion

fordY am@r & Fe ¥ FqHS F 39T gl arer &Y &

The defect in wood that results from cutting across a branch is

(a)
©

&Y U AFRIcHE a1 OY0T ga [A&fad g & o9

Negative skin friction develops on a pile when

(@)
(b)

(©)
(d)

M / Knot (b) 9=/ Pitch

&9 / Cup ' (d) 9% /Shake

& & Yy T3S & ams fear Swar &/ Pile is driven in a sandy soil

ST qoA H WU Hr S HWF S5 § / Surrounding soil settles more than the

pile
A TAX d8dT &/ Water table increases
¥ Fr A Rl /LY gr Hr g1 &/ Pile tip rests on clayey soil

14
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61.

62.

63.

64.

65.

e av wE & fov f(x)—5tan'l(2x)+%4 x=2 9T f(x) & SqcTeet HT AR FY

4
For a given function f(x)= 5tan~'(2x)+ —%—compute the derivative of f(x) at x =2

(@) 3 by  5/4
() 3/2 @ 5

Tl & Tecarnier fEar & 3iafer & qorReT F AT e HaRer a9 F wgeiad qor Rrden
gar arfgu?

What is the minimum velocity with which a spacecraft should travel, to escape into space from
earth’s gravitational pull?

(a) 8.5 km/sec (b) 11.2 km/sec

(c) 12.87 km/sec (d) 7.6 km/sec

3 W F UF g1 g R S OF F IRCAIFIOr i SR 0T F IRY A A0 3wh
A & dr g 9w Rd B

The centre of gravity of a right circular solid ¢one of height ‘h’ lies at a distance of
from its vertex measured along the vertical axis.

(a) h/4 (b) © 3h/4
(© b2 d 4w3

S FRET T 1T TeTd A geAEAdT ST W AF, B SHH FONAT F AGE C F aET
g, ar O AT, K fhaer gen?

If the modulus of elasticity, ‘E’ for a given material is twice its modulus of rigidity ‘C’, the bulk
modulus, ‘K’ equals to

(a) 2C ®) 3C
() 2073 d 3Cr2

AR FTIE e & fad HiOwan owqor gidee 3R Mo srowor gfed &1 e
Fepet gram &2

The ratio of maximum shear stress to average shear stress developed in circular cross section
equals to

(a) 1/2 (b)y  4/3
(0 3/4 @ 13
15 1483



66.

67.

68.

69.

70.

U HIAFR doiel i DMeE 4 m 3R TS 3 m &1 A7 A1 gRfos R ma i)

A rectangular channel is having width 4 m and depth 3 m. Find the hydraulic radius of the
channel.

(a) 1.20m (b) 0.83m
(c) 3.00m (d) 4.00m

g8 o YTy T #IE A A8 @, seerar ¥

A fluid which has no viscosity is termed as
(a) IFafdF AT 9/ Real fluid (b) I T g/ Ideal fluid
(c) LI &g/ Newtonian fluid (@ ¥R ~AATT 5/ Non Newtonian fluid

T A B, o day T AR dawe AR Qe Rt W R ¥l e # aiy @ e
Y oS HROT 53 7 q@wfaer gren

A slender bar of length ‘I’ and area ‘A’ is pinned at both ends. Find the rise in temperature of
the bar which would cause buckling of the bar

[adE faEaR BlUTIEI? ! co-efficient of thermal expansion = 1055, A = 0.01 m?2, 1 = 3.14 m, S5
3mgo / Moment of Inertia of the bar = 10-‘m¢]

(@) 1000°C ) = 500°C
© 250°C d  100°C

IS 456:2000 % 3FTER 37 SIf@w wRfEufa & AU ~g7aw Ade Twan
Minimum cement content for severe exposure condition as per IS 456:2000

(a) 300 kg/m? ‘ L) 320 kg/m?
(¢) 340 kg/m3 (d) 360 kg/m?

TE AU AF A 10 mm 9 AR 2 MR e @ 83 ganr e 3140 RraaA
GSUAE #I Uw Aifde Bvw &1 I o3 &1 Mz #vr 0.1 9T § A 399 N 30Fam
3q®qur gfaga AT FfSA| FORar ATF = 8 x 104 N/mm?

A torsional pendulum consists of a horizontal disc of mass 3140 kg suspended by a 10 mm
diameter and 2 m long steel rod. Find the maximum shear stress induced in the rod, if it is
subjected to an angle of twist of 0.1 rad. Take modulus of rigidity = 8 x 104 N/mm?2

{a) 40 MPa (b) 100 MPa
(¢ 64 MPa (d 50MPa
16 1483



71

72.

73.

74.

75.

76.

el & AT Yt & i @ FeateR g gend &

The vertical distance between any two consecutive contours is called
(a) wgad W(‘:I_,FJ/ Vertical equivalent (b) s HHJIeT / Horizontal equivalent
(c) @HATT AU / Contour interval (d)  |AET &/ Contour gradient

THAT anT arer &5 Y SsS arelr Y@ FEerar &

The line connecting the areas of equal rainfall is termed as
(a) TRSE-GET/ Isobar (b)  FATYT Y@/ Isotherm
(c) WFATTT Y@/ Isohypse (d). HaNr 3@/ Isohyet

FArfafad # 4 ®la @ 939 Juve F FEYAE F HROT T 57

Which of the following rock is formed due to metamorphism of Basalt?
(a) WoraTse / Felsite (b)  IHIAT/ Amphibolite
(c) SRS / Dolerite (d) FAEHATSE / Quartzite

STol & grEgetel AR HFMstal & FeqH = FT 39T 7
The ratio of mass of hydrogen to mass of oxygen in water is

(@ 2:1 by 1:8
(© 8:1 d 1:2

ﬁmﬁ@aﬁ#ﬁammmmﬁmﬂaﬁ#m@m#ﬁmﬁ

Which of the following Bouge’s compound is primarily responsible for early strength of
cement?

(a) C:S T3 Ficermw RAAFE / Di Calcium Silicate

(b) CsS T Hiowras ﬁﬁarc'/ Tri Calcium Silicate

(©) CsA g1¥ HfowadA wegfAaAe / Tri Calcium Aluminate

(d) C.AF g7 ShfeaH Qﬂﬁﬁﬂﬂ@?l Tetra Calcium Aluminiferrite

fArafaf@a # & @l ar gderr Feng Fhe & I Aaraed wheror a8 &2

Which of the following test is not a Non Destructive Test of hardened concrete?

(a) HogrAAF o I TETor/ Ultrasonic Pulse Velocity test

(b) Je1-313< 3R aRtgeraar 9eoT / Pull-out and Maturity test
() RE3s & WeTvT/ Rebound Hammer test
(d) 4 & FTaFHET gfieToT/ Vee Bee Consistometer test

17 1483.



78.

79.

80.

AR 7 ¥ 8 gRa Rar awad J&r srar 32
Which of the following is considered as a green building material?

(a) TAZT £/ Clay brick (b) S WA Fr 3¢/ Fly ash brick
(c) gé?—‘q‘ &z / Refectory brick (d) Fshie $r 3T/ Concrete brick

rfai@a & ¥ &R =1 399 Sl FI BE F B smar 22
Which of the following pile is used in black cotton s0il?
(a) T &/ Batter pile (b)y A ST & A/ Under reamed pile

(¢) %=X ¥/ Fender pile (d) UFFH &I/ Sheet pile

HEHAY HIT F BP0 TR F FIEROT T HEedwar gy 22

The type of chlorination required during epidemic period is

(a) &% UIse FARIAIHIUT / Break point chlorination
(b) q‘:é FATHIT / Pre chlorination

(¢) BFANFIoT/ Dechlorination

(@) U FAIfEAFROT/ Super chlorination
fRrfafee Jer & o Rgia F Jgar e w1

Match the following as per Euler’s theory of column.

Jfa# TRAfT / End condition d&faer #18/ Buckling load
A, al Y T & / Both end I. 272EI/T?
fixed

B. wH AU R# g3 IR w R
BT / One end hinged and one 2. n EIl4L?

end fixed

C. gt f&Y 9T B=a / Both end
hinged - 3. 42 EII?

p. & U few ik w @Aw
?fl'?l'/ One end fixed and One

end free 4, 772 EI/ L2

Codes :

A B C D
@ 3 1 4 2
{(by 3 2 4 1
{(cy 3 4 1 2
dy 3 4 2 1

18
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10.

s

12,

13

14. U-

15.

ST, SeeR-qiEeenT & 4T 37T Jrgeell & Taw, AT TITEY & YT TS 9T U 3NUHANR 3cck-

Wﬁyﬁamﬁmwaﬁmmmwél
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

Teh Y2 & Tl 317 3l ITeld HIAT SATTAT |

Multiple answers for a question will be regarded as wrong answer.
SR gt Fe 3 AR grA-gRae vl Fis . AR Seax qRedwn o fAfcee T o
forgs T2 v

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

yeaT-gfecTehT 3 HTTeRT ATH AT JFTshaieh el fordd |
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the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

gfeceT 33t 3Te uTe T8 HHA ¢
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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For cantilever beam main reinforcement is placed at

(a) «rd/Bottom (b)  #e"/Centre
(c) I Top (d) 3TEmR/Support

U 9eTy &7 geg A ....... §1/Mass of a substance is

(@) 3IFast X gadca/Volume X Density (b) gegaT X gaca/Mass X Density
(c) &% X gsica/Area X Density (d) 3‘1‘{1% gsfi/All the above
H F YSS { THAA Y53 & 1 &l Ifediee ollged .....ooveveee gl

------- is the line of intersection of a level surface with the surface of the ground

(@) &ur W@i/Line of collimation (b)  wuT Fars/Height of collimation
(c) wH=a/Contour (d) ZEeAgss/Datum surface

The most important line in a survey is

(a) IR @1/Base line _ (b)  gsdr 3@r/Check line
(c) 9% W@I/Proof line (d) e @N/Tie line

I v Y & g AR 120 Deg. § aur 3fFemeet 7 Deg. W &, ot saer daehrr 9T ....... Bl

If the true bearing of a line is 120 Deg. and declination is 7 Deg. W, then the magnetic bearing is

(@) 113 f3./Deg. (b) 127 f3./Deg.
(¢ 3713/Deg. (d) 33 f2/Deg.

TN F PergRR ATSTH0 ... HEd bl

The corner stone or brick inrmasom'y is called

(@) fhor FewKing cldser (b) T FAraw/Queen closer
(c) wars=/Quoin (d)  Ege/Squint

1369



10.

11l

12

13.

Unit of force in ST unit is

(8) FI/Newton (b) gg«1/Dyne
(¢) fFarwAKg-m (d)  fFar-fA#A/Kg-mm

HF OR A 97R foig T g el héreliar €17 & AT, Tas 3m@ .......... g

For a cantilever beam carrying point load at the free end, the SF diagram will be

(@) 3mad/Rectangle (b)y  TeproT/Triangle
(c) RmEfds/Parabolic (d)  sHH T FIS Ae/None of these

AFT B A 91X g o7 ag=T atal Shtelta i & fore, fivarsma ., gl
For a cantilever beam carrying point load at the free end, the BM diagram will be

(a) 3mIA/Rectangle (b)  MeRIvrTriangle

(c) Yyraifes/Parabolic (d) 8 ¥ H5 Ag/None of these

CAREPI TR TSI Al FEATHF ....... T

Least count of a telescopic staff is

(@ 0.05#/m (o) 0.005 #FAr/m (c) 0.54/m (d) 0.0005 #r/m
s & Foia & fore FAwIRRr T 318 Shic T, i gl

The conerete slump recommended for beams and slabs is

(@ 75 drto 125 fAsf/mm (b) 50 &/to 100 F&.H/mm

() 30 3/to 125 A /mm (d)y 25 37to 50 F#FA/mm

a foig foraet veh yoa W @ arer 7 aRoIe BRIRA €, 39 v FEA B

The point through which the resultant of the liquid pressure acting on a surface acts is known as
(a) ara-g/Centre of Pressure ' (b) &l are/ Total pressure

(c) @aeme/Liquid pressure - (d) 9T gr@/Absolute pressure

s 8T o WY [TeitereT d1a & forw et 3mgot ........... gl

For a simply supported beam with a central load, the bending moment is

(a) Fm H=g=Ta#/Least at the centre

(b) 3R & =Tt/ Least at the supports

(c) 3R # 3fFda/Maximum at the supports
(d) g H Afdsaa/Maximum at the centre

4 1369



14.

15.

16.

{7

18.

19.

AT 9 T fFafta 91 &7 agr ¥ f1e7 T da1S & F 10 3RW HT HEN ... gl
The shape of the BM diagram over the length of a beam carrying uniformly distributed load is

(a) Y @%/Linear (b)  Rraifer/Parabolic
(c) wera/Cubical (d)  gecdra/Circular

e foam TfiesT & 3efieT gerey T TS F9 & fawT gl Y AT L ETSE

Ability of a material to deform permanently under compression without breaking is called

(@) JmardaEdarMalleability (b)y  d=gar/Ductility
(©) Ageral/Softness (d)  @eRdar/Hardness

Pipes for water supply are tested for

(@) <r€/Pressure (b) &uT/Leakage
() fa#ArDimensions (d) ECI'{iaa?fH%fr/All of the above

AT ......... T [ASHIG oh TeIT [T ST & 1

Aeration is done for the removal of

(a) Wr/Colour (o)  3gerayTurbidity
(c) FeRarHardness (d)  §lraieyBad odour

TRET & o7y o SrAreTRITe 7 & 978 ST & g FeEfataa gl

Laboratory tests on a soil sample gave the following results.

ga d@rAr/Liquid limit - 20%

colfees @rAT/Plastic limit - 10%

vy et . : 200 | Seir gé fAET & AT #r gfard/Percentage of soil material passing through

- BS sieve No: 200 = 40%

TAEY T GUCIA YIS ..................... § |/The Plasticity Index of soil is
(@ 20 () 10
© 2 ‘ @ 6

A GI pipe has a coating of
(@) T&&/Zinc (b)  @3/Lead
(c) FaeauSilver (d)  vaAREA/Aluminium
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20.

21;

29,

23.

24,

Geodetic surveying is different from plane surveying because of

(a) gedrrashar/The curvature of the earth
(b) ﬁﬁﬂ%@&ﬁ%@vmrﬁa@ma}?w
The large difference of elevation between various points
(¢) ey & HRFearUndulations of the topo graphy
(d) 39dFd & & &5 g/ None of the above

m456:2000$wmmﬁmﬂﬁﬁﬁmma§mmm ............... gl
The maximum cross sectional area of longitudinal bars permissible in a column as per IS 456:2000
is

(a) T aReda & Fel &1 1 4 %4 % of gross area of column section

(b) & aREde & Fer &t &0 0. 4 %/0. 4 % of gross area of column section

(c) TiHaREda s Tl T H 6 %6 % of gross area of column section

(d)  Ec aRede & Hel &= &1 0.15 %/0.15 % of gross area of column section

Wgﬁaﬁﬁaﬁwas%vﬂésﬁm .................. F HH 6l el 1160
For a well conditioned triangle, no angle should be less than

(@) 20f3/Deg. (o) 30 f3/Deg.
(c) 45./Deg. (d) 60 f3/Deg.

In chain surveying a tie line is primarily provided

(a) TFaTor T T i Sird F=/To check the accuracy of the survey

(b) farge wderor & faw site o/ To take offsets for detail survey |
(c) e & AT 3itwde & s9=v/To avoid long offsets from chain lines

(d) G @ S HE ga@/To increase the number of chain lines

ABCD s G 1 IR weifc ¥ A AB Wi &t aariar 75 f2. %, @ DC & aafier ... G|
ABCD is a rectangular plot of land. If the bearing of the side AB is 75Deg. the bearing of DC is

(@) 75 f./Deg. (b) 255 8./Deg.
(©) 105 3/Deg. (d) 285 %3/Deg.
6 1369



25.

26.

a7

28.

24

30.

31.

ST Ueh T T 3T 38 37MTehed b dekel & gl W 87 Sgehd aToeret &1 feham ST §, oY A oarg &1 3
............ g1t

When a chain is used at a temperature more than the temperature it was calibrated the error in
measured length will be

(a) FFA/Cumulative (b)  "iaqe/Compensating
(c) HUTcHAF/Negative (d)  99UTcHAS Ffe/Observational error

Fargee aaiiar N 15 3. 28 &, W T et gt 9T fohaar &2
What is the whole circle bearing of a quadrant bearing N 15 Deg. 28 Min W

(a) 195 f3/Deg. 28 fA./Min. (b) 164 f3/Deg. 32 f&./Min.
(c) 344 f3/Deg. 32 ./ Min. (d) 344 f2/Deg. 28 f&/Min.

Accurate centering of a plane table is done by

(a) TR waa/Spirit level (b)  ceifder wi/Plumbing fork
(c) ufasg/Alidade (d)  YfesierWs/Ranging rod
Common sand is a variety of

(a) erarse/Calcite (b). | FETeq/Quartz

(¢) Westur/Feldspar (d) 4. FeRTEC/Chlorite

€Y 3 §2 a5 & AT 312 gt §/The soil not good for making bricks is

(a) el [E/Black cotton (b)  Seile AEVAlluvial

(c) @EHI/Silty (d)  Yagaure/Sand and silt
HA STA A oo aAfAa gl

Sewer pipes are made of

(@) #eeTs/Earthen ware (b)  WHITStone ware
(c) E_g‘[ﬂ?ﬁ'& Fol/Refractory clay (d)  &erET/Terracotta

Ueh Yraforet shshie e a1 JreTey aitesse faare 300 x 1000 2.3, &1 M 25 i dar Fe 500 315 5edrd Hiet
ar, aRede & oater 3maot ... ” W gl

A reinforced concrete beam has cross sectional dimensions 300 x 1000 mm. Assuming M 25 grade
and Fe 500 grade steel, the cracking moment of the section is

(@ 175 kNm (b) 200 kNm
(c) 350kNm (d) 150 kNm
7 1369



32.

33,

34.

ga

36.

37-

Turpentine oil is used in paints as

(a) f=/Thinner (b)  dfgwel/Vehicle
(c) «a/Base (d)  3rEYDrier
e TR Hg 38T &1 ZRe 3R (g/om’ ) FhE o 3

The unit weight of rolled structural mild steel is about (in g/crn3 )

(@ 245 (b)  6.40

() 7.85 @ 9.0

Wﬁﬁﬁ%%ﬁrﬁmm#%aﬂmaw ........ gl

The most commonly used base for timber painting is

(a) o eis/Red lead (b)y  fIFarse/Zine white
(c) drse oig/White lead (d)  eEcigH arge/Titanium white

ﬂéﬁgmﬁzﬁmﬁg@umﬁm%’l

The three main raw materials for Portland.ccment are

(@) T IR, ST TG g Foi/Limestone, sandstone and clay
(b) =, FAferer T Fel/Lime, silica and clay

(c) &, For g foreg#/Lime, clay and gypsum

(d) fafce, weieer 7 rea#/Silica, alumina and gypsum

Soundness test of cement determines

(a) for:3ee 9ot dr auranQuality of free lime  (b) H e/ Ultimate strength
(c) TFFgA/Durability (d) w3 sea/Initial setting

AR gert & & frad 97 AT & gay 310w AT §7?

Which one of the following substances has the largest value of Young’s modulus?

(a) &s/Rubber (b)  =rgaE/Nylon
(c) digrIron (d)  die/Copper
8
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% b TF ITAT h & Sheeh 3787 & 9 & FATAICR Uah 107 &l S75¢q 3TH0T ........ gram|

The moment of inertia of a triangle of base b and altitude h with respect to centroid axis
parallel to its base would be

(@) bh%12 (b)  bh’/18
(c) bh’/36 (d  bh’3
IIEF AT o, L= & o & ITIT &

The mechanical advantage is the ratio between

(@) R T AR g1 @& %1 771 gli/Load and distance moved by the effort
(b) R & $TR ERT & 1 15 g{i/Load and distance moved by the load

() &RT mm/Load and effort

(d) 3w g s/Effort and load

STe Uk O AT J56 | TRehell &, TS T cad o ..o S AT ST &

When a body slides down an inclined surface the acceleration of the body is given by

(@ g (b)  gsind

(c) gcosb (d) g tanf

STET, ‘g’ BT I caRoT 2T O 1S I v T 3 FHIoT |

Where, ‘g’ is acceleration due to gravity and.0 is the angle of inclination of surface with the
horizontal.

ferelT forereT BT & dehat STETT & FHoaaheT 6] FHTCTE TREOG coverrverenne W

The critical section for evaluating the bending moment for an isolated footing is at the

(a) FAS/AE F Bers/Face of column/pedestal

(b)  EToT/dIEHT o ok Fd’/2 g T/At ‘d’/2 distance from face of column/pedestal
(c)  TAsI/dTEHT & Heteh T “d” g T/At “d’ distance from face of column/pedestal

(d) T/ & BT A d’/4 gt TUAL ‘d’/4 distance from face of column/pedestal
STeT “d” Piear iy gy eS8/ Where “d’ is the effective depth of footing.

gadTiold Tatge ag AN & S ST Fall & ....o.o... I GRATHT ST B

Hydraulic turbines are the machine which converts water energy into

(a) dif3s Fsi/Mechanical energy (b)  faegda F/Electrical energy
(c) WRFa/Solar energy (d)  ¥gUIfed Feil/Automatic energy
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44.

45.

46.

47.

Centre of buoyancy always

(a) 71%ca ek & AT &l %/Coincides with the centre of gravity
(b) Preefi e & e & 3T & AT TG ©

Coincides with the centroid of the volume of the fluid displaced
(c) Iocd ¥z ¥ T TEaT &/Remains above the centre of gravity

(d) ¥FcaFEF i TeaT ¥/Remains below the centre of gravity

15 2 207, o &1 T aiteren, 3t 3 0.9 fafirse treiea & 7 Ta 0.8 poise AT AT T 2 MAF
TR 397 F TAT §, AT S FET e g

For a sphere of radius 15 cm moving with a uniform velocity of 2m/sec through a liquid of specific
gravity 0.9 and dynamic viscosity 0.8 poise, the Reynolds’s number will be

(a) 300 () 3375
(c) 600 d 675

0.751%@31@,5:&.?%,2#.21%@"3ﬁr.ﬁmﬁﬁwﬁvﬁﬂwmmmﬁﬁm

Water displaced by a floating rectangular wooden Block of Sp. gravity 0.75, 5m long, 2m wide and
3m high is

(@ 17.5m’ ©  20.0m’
© 225m° @ 25m
EESAD FHET covvervrnnns gl

Non-cohesive soil is

(a) Ya@/Sand ' () @Sl
(c) F/Clay - | @  (b)d(c)a=tBoth (b) and (c)

3ﬂg@r800:2007axagm,maqﬂf?mﬁﬁwwéﬁmﬁqﬁﬁ*ﬁvwmmwm%
T & PROT e AT ST TART v gl

As per IS 800:2007, the maximum allowable vertical deflection due to the combination of dead load
and live load for purlins supporting elastic claddings is

(@) faegfar120/span/120 by  faeafar180/span/180
(c) faEgfr150/span/150 ) faegfa240/span/240
10 1369



48.  gearey HIAT & 3e3 ST o ol Cardl 31 ... = l

Poisson’s ratio for steel within elastic limit, ranges from

(@ 0.153/to 0.20 d= (b) 0.24 @/to 0.25 d=
() 0.25%/t0 0.33 a* (d)  0.33 3o 0.35 =&

49. a2l cerel & A o gt & 31T Solel A Gahl SITdT &, 39 AT &l ..., FEaEl

When two plates are placed end to end are joined by two cover plates, the joint is known
as

(a) T HR/Lap joint

(b) &z |f/Butt joint

(c) daRafeas™ @/Chain riveted lap joint
(d) argr 3maer 92 @f/Double cover butt joint

50. ara¥ya& w7500 %. & fovw aramer sarst 750 &, ¢ sarat fr et ..., gl
Simple interest for Rs 7500 for 2 years is Rs 750. Rate of interest is

(@ 10% b 5%
© 2% (d) 20 %

51. Jeax?+y*+8x—6y+7 =0FFs ... e
Centre of the circle x? + y? + 8x — 6y + 7 =01s

@ 4, -3) By 53

52. 9oy @t afcerd sEara afiesa & § €19 & &9 & WRUCET YgFd TREDE ........... gl
Out of all the available rolled steel sections the most commonly used section as beam is

(@) &E-afEde/T-section (b)  uE-uRzde/L-section
(c) 3me-9R=de/I-section (d) el aR=de/Channel section
53. HATEI WEROTAAT W .......c..... H RU S E

A man hole is generally provided at each

(a) d&/Bend '

(b) HeTsh el SITH I sl Td doi/Junction and change of sewer dia
(c) wavuTar 9Radst/Change of gradient

(d) 3wiFa @Al the above

A 11 1369



54.

55.

56.

57.

58.

59.

60.

AT & & Hiet STor SR Sars a1 Sy 461 22

Which of the following is not a water borne disease?

(a) TEFATIER/Dysentery (b)  Frer/Cholera
(c) <EHizs/ Typhoid (d)  #HAaR=/Malaria

Stress is equal to

(@) X &F/Load X Area (by  #myeTa/Load/Area

(c) & /sm/Area/Load (d) zHA A HS A61/None of these
rfafaa & g i FAAT AT 57

Which of the following is fundamental quantity?

(@) <iere/Length (b)  ZEIA/Mass

(c) THI/Time (d)  TfVAll of these

forecifer L = epereiferet e, after o 3 21 forg 31 W a7 e ot Toicll 8 | SiTRiehcrar s ameet ... gl

A simply supported beam of span. I earrying & point load W at the centre of the beam.
The maximum bending moment is

(@ WL (b) WL/2 (c) WL/4 (d) WL/6

ST d & Teh geed &I GRATT ........ €

Perimeter of a circle of diameter d

(@ 2nd (b) md (¢ mwdR2 @ mwd?

SI gfie & Sigea st ar gfae ... B

The unit of moment of inertia in SI unit is

4 8

(@ m (b) m? € m (d m
b =300 mm ; A =600 mm” ; fy =500 N/m” &2 3ealrereh 3757 z =300 mm & ZeFer Tar et & Hfe

T TR DT ..o Bl

The ultimate moment of resistance of a beam with b =300 mm ; Ag; =600 mm? ; fy =500 N/m? and
lever arm z =300 mm is

(@ 90.2kNm b)  56.7kNm
© 783 kNm @)  120.5kNm
12 1369



61.

62.

63.

64.

65.

66.

67.

S VST & U O Hiex F hllael .o

One cubic meter of brick masonry contains approximately

(a)
(c)

300 $e/bricks
400 ge/bricks

(b)
(d)

350 ge/bricks
500 ge/bricks

U AGH 50 7. 1 I FUIEAA 8139 ... FhR ¥ for@r g
In a map 50m is represented by 1 cm. It is written as

(@)
(c)

37efIar HST e & 3R Fged Teh TIAATCHE AT AT

508, #Ar/em =19 dA/cm
] #l/m=14%9 #r/cm

(b)
(d)

1@ #r/em = 50 #r./m
504 #Fr/cm =1 #/m

A structural member subjected to axial compressive force only is

(@)
(c)

Fa97/Column
drF/Beam

(b)
(d)

Too/Strut
B‘\E/Hook

e 8 TR, T AT g @ T F RIS IR A G A L I B
The distance from the centre of one rivet to the centre of the adjacent rivet in one row is
called

(@)
(c)

gfda {arel/Row pitch
39id/Margin

Rivets are specified by its

(a)
()

of¥ =are/Head diameter
oiarg/Length

(b)
(d)

(b)
(d)

faeruft 3idtre/Diagonal pitch
3ieRrer/Pitch

df& =ar@/Shank diameter
fafaa gerd/Material made of

AT T EATHT T Feerat F 3w A, il al ey U F R F T A G
ERE IRy
In the design of connections in steel structures, the distance between the centre of any two
adjacent fasteners shall not exceed

(a)
(c)

16t Ir/or 300 mm
100 mm + 4t

(b)
(d)

12t Ir/or 200 mm
32t Ar/or 300 mm

BT ‘t” oY Tole &1 Alers § / Where “t” is the thickness of the thinner plate.

&a gsa 7 TRETS Fr 3fg & wry fAfSad e A g@ A dfmar A gl

The intensity of pressure on an immersed surface

its depth from the liquid surface

(a)
(c)

gfé/Increases

qR@de 1gl gidr/Does not change

(b)
(d)

13

gr/Decreases
5H# ¥ IS Az1/None of these

with the increase in
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68.

69.

70.

41z

72.

713.

The velocity of a moving body is

(@) HfErAEIVector quantity (b)  3fferAENScalar quantity
(c) f&=RAmEyConstant quantity (d)y  ZFH T FIS A6/ None of these

Unit of stone masonry is

(a) #ewMetre (b) 10 #Hex 2Metre?
© e /Metre (d) =TI FIS ag/None of these

TS &1aR & Feddr 8 Feafaf@d 7 & few 3SR &1 37T fsam sar €2
Which of the following tools is used for verticality of masonry wall?

(@) void d/Plumb bob (b)  STerde/Water level

(c) clae/Trowel (d)  TeaRe afae/Spirit level
Aels B FT AT UTH ... gl

The main constituent of Portland cement is

(a) UAATAlumina (b)  &R/Alkalis

(c) wethe/Sulphate (d)  ==mLime

el Frel dier, v Freg ey 5 1, et b = 300 e, e s a1 d = 500mm s &
Tied vsF FA &7 & RAaRa 10 kN/m Gar IR 9Ra) H1 &1 96 X 1@ & ar Refaa AT 319%qor

For a simply supported beam of span 5 m, width b = 300 mm and effective depth d = 500mm
carrying a factored uniformly distributed load of 10 kN/m, (including self weight). The nominal
shear stress developed is

@ 0.33 N/mm? (b) 0.47 N/mm?> )  0.26 N/mm?® (d 0.167 N/mm?

a5 faig o s &1 1 R H1E F@TE, oo FEeAlT B |
The point through which the whole weight of the body acts is called
(a) I%ca-e/Centre of gravity (b)  #R/Weight
(©) I®ca/Gravity (d)  Fe/Centre
14 1369



ag TS i Tl AT F FoATeT Wed e AT SRl €, o gl

The material which exhibit the same elastic properties in all directions are

(@) wegrey #H/n elastic (b) gaEN/Homogenous
(c) THGIAH/Isotropic (d)  3fefe/Orthotropic

The ratio of stress to strain is

(@) wcarEddr/Elasticity (b)  weareydr Argi/Modulus of elasticity
(c) 3=t AeR/Bulk modulus (d)  HH A FIs 751/None of these

& 1, Fer A9 B, sigca 3mget [ vd fou 3 Hfed R P & Héreliay e &1 3ifiashad [@eid ........... gl
Maximum deflection of a cantilever beam of length [, Young’s modulus E, moment of
inertia I and concentrated load at tip P.

PI3 PL2 P13 plt

28E] L) Sl © = @ 3=

(a)

W&s gfeor 2x + y = 3, 4x + 2y = 6 I YOIl o v gall T T8 .......... gl
Number of solutions for the system of linear equations 2x +y = 3, 4x + 2y = 6is
(a) 3=id/infinite (b)  AEHF/unique

(c) artwo (d)  FEEAAci/no solution

god &1 251 d. F.AT. eTthel ¢ | $HhT IR ... gl

Area of a circle is 257 sq.cm. Then its circumference is

(@) 5 d#Ar/em (b) 107 .71 /cm
(c) 10 &#Hr/cm ‘ (d 5dHAL/em

o T SR 15 mil, 50 mi 39K 75 mi 5t emar w@a 8| Tl oft wrom SR & wegof W o o organ e
Y

Three measuring jars have capabilities of 15 ml, 50 ml and 75 ml. What is the least capacity which
can be perfectly measured by any of the measuring jars?

(@ 100 ml by 75ml (c) 150 ml (d) 450ml
7§—3_7§ ....... F TR

ﬁ—iﬁ is equal to

@ V3 - V2 by V3+ V2 © 1 @ 3
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330t & AW 3rsreziinstructions to the Candidates

1. 3% @RI 99 Hded H &id [T a0 3iiaA-ofigel 3¢ & HUR W HGH fof@ad
qiteT & AU AT fRar = 1 3 e 99 # vterg gfafse &1 § a1 gAR s
& HTHR IOfETT Aegdr FA [ & al 9kl Al siEdiehd @ S|
You have been called for the written test based on the online data furnished by you in the web application. If you have

wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature
will be rejected.

2 ofieT T 3 e #T 3URRATY F & IUST -Rec/ORTE W AR HET IR

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. U%T-UF 60 WAl A ol G- d T H &l
The Question paper is in the form of Question Booklet with 60 questions.

4. 9eEl & 3ok foEs & T 3eRr MNTANR SccR-gReds & S|

A separate OMR answer sheet will be provided for answering the Questions.
5 FW el F F ARG wea-qfeger Aok @ (waldg), AtIR scR 9itge
fAfése vu=r 7 fowen @ifgw)

Question booklet series code (A/BICID/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
PT.0




10.

1.

12.

13.

14.

15.

cr%r—gﬁ?m H HTIHT ATH F2T HIshATS b Hg & o |

Enter your Name and Roll Number correctly in the question booklet. -
HTANR IeaR-qiedat A | wiafeear Aefi/arel Tl & afew wse 99 & & &5 s
TR

All entries in the OMR answer sheet should be with blue/black ball point pen only.

9 £ AUIRE AeEdr & HUR W, fEd i 9 et &y sedfse w9
g1al, forTa & g ueh 3feTy &9 ¥ @E g

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

,M,W-@wﬁmmaﬂ@ﬁtm, STell/ETell TR & dic gSe 9 &

INTAIR IceR-RTH F T Tl F 3w T 3cak 1 9T FEAT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

U 99 & AT 3F 3ok S W 98 3k ITod AT ST Ieid_3eii & fau
AEd 3 ARL far SueT|

Multiple answers for a question will be regarded as wrong answer: No negative mark will be given to wrong answers.
ffld aien qeeare gd & 3l FoTe, FETAE, Adsa B Tl 3T sdwRE
1< O 8 R | | A e . st 5 B o AR AL

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed inside
the written test hall,

e o A HEAHN SeR-gRad & IR & o7 [ed @ &2 3R 7w
AR IecR-iecar e a1 d9 For gud 9fa 3 o @)

On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.

w&#—gﬁaa?r A Y I TG Fhd B

The questic;n booklet can be retained by the candidate.

TG & w2 G¢ & aRi 3t A odiew g ol A Al A8 R

Candidates are not permitted to leave the examination hall during the first hour of the examination.

A F WRTR & FHEdEeCAREST w6 v & R wler T
ST Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.
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dhairehl Terdes (Rfed =TTl /TECHNICAL ASSISTANT (CIVIL ENGINEERING)

T FE1g “L”, YIH AT B TUT 2T #115 “W” 8 T Teh shahdic FHleclaial a1 &, 30 HR
INOTAT T FIT v, FTEET—— &l / The end deflection of a concrete cantilever beam
with tip load “W" of effective length “L”, Ec the Young’s modulus, neglecting self weight is

(a) WL3/3EI
(b) WL/AE

(9 WL/4

(d) 39gerd H T 15781/ None of the above

A Fol TGS & 1/3 o SR T WSS § Tl Teh Fold I HET Folel —— & i &1
ST 81 / The main reinforcement of a slab of width equal to 1/3t its overall length is provided
along the

(a) HIX €12/ Shorter length
(b) e d=s/ Longer length
(c) @l f&RMT seR/Both directions equal

(d) aaré'eﬁrﬁrz&rmrr #H/ Diagonal to the length

SIS “b” TUTIEIS “d” T T Teh 37ehel Falold A & ST “p” & A7 qaelet (As) &I = a7
€l / The minimum area of tension reinforcement (As) of steel “p” in a singly
reinforced beam of width “b” and effective depth “d” is

(a) 0.85bd/fy (b) 0.85bd () 0.5bd/fy (d) bd/fy

g §T\T qTAY ZaRT fT SiAarel gt it ———— Fgd €1 / The soil transported by flowing

water is called

(a) wATHe fAET/ Aeolian soil
(b) HHT ALY/ Marine soil
() BRI A/ Alluvial soil
(d) Yelrel fAET/Sandy soil

3 CI44/15



SfF Y TF I 3 Aot § TG WY FHIE F T AR IR T & A 37 FIe H HfFaR
MR —— H AT SEr g1 / Retaining wall is provided with a trapezoidal cross section

to withstand earth on one side, the larger base of the section is provided at the
(a) HTYR/Base

(b) 3 HIT/Fore end

(@ T /(@) or (b) |

(d) SC{?;:T:IH # @ uH 3 A8/ None of the above

Hle & 7 et TdsH 9 F Hahele §d [T 7T A & JAH ——— §| /The dimensions of

specimen taken for estimation of 7 day compressive strength of concrete is

(a) 150 x150 x 150mm
(b) 10x10x10mm

(¢) 150 x 300mm fAfeiEY/150 x 300mm cylinder
(d) fordr 8ff 3marH &/Of any dimension

373fY-373f) Srer T IERAT T &F HAT F o ST ST T HAT o FHIAT LT
IRT| B G T fo¥ehrercr FAF fore STRiecr H0 WA 3H e 1C Dl shell I8 HHA-J-FH SHHT GIIAT

T Fhehdlc ol IS 81 deh Ig 3T 1§91l £ Forms of freshly laid ree work should not be struck for

a period called - until the conerete has reached a strength at least twice the stress to
which the concrete may be subjected to at the time of removal of formwork

(a) selfsaTTel/bleeding time

(b) &I FHIeT/ stripping time

(c) AfEar Frer/ setting time

(d) sqvjjw & U 3 €T/ none of the above

150 T3, sara a@ar 300 A, ST &F SAATHR FHAT T ITANN FHIC o ——————— HT HTRel
A %?:I; T ST g1 / Cylindrical specimens of diameter 150mm and height 300mm are used to
estimate ——————— of concrete

(a) 3TTHA Fof/Flexural strength

(b) EdIEF &o7/Compressive strength

(c) Tawed defsl &el/Split tensile strength
(d) 3hIT/Creep

4 ClI44/15



10.

11.

12,

13.

IRERY f#TT & Fed15 7 3F § - / Fed15 in RCC construction implies
(a) T 415 WIET/Iron of grade 415 s

(b) IRERT F yged 3Ta WeE GHEE OFT gEad @ afedm /High Yield Strength
Deformed steels bars used in RCC

(c) AT TIATHS FEITT/Mild structural steel

(d) 3udFa # & vs ofr 7L/ None of the above

ST SEITT T9F AT ———— ¢ | / Mild steel has Young's modulus of

(a) 21000 kg/mm? (b) 7000 kg/m?

(c) 42400 kg/mm? : (d) 2100 kg/mm?2

I frE P F I W I A s e ar 3a fAgr &r W%I/Whenthepores of

a soil are full of water then the soil is called
(a) 3Pl fAEY/moist soil

(b) TJTFRJT TSR fAET/ fully saturated soil
(c) HuT fAEY/ plastic soil

(d) SIS 32/ hydrated soil

shr femat & A= :;vmﬁ ¥ g TF Jard Fed &1 /A material with

identical properties in all directions is termed as

(a) WITEY/ Elastic
(b) HFAA/Composite
() AW/ Isotropic
(d) cenf¥es/Plastic

3TTaTTereRa T HHT ———— T A FA &1 /Limit of proportionality depends upon
(a) HROUT & H&R/Type of loading

(b) & & SR/ Type of material

(c) 3IHTWEY HIC & &/ Area of cross-section

(d) SFTH & U 8 %1/ None of these

5 CI44/15



14.

15.

16.

17.

TS L ¥ YT UF Hecra] A, e e ) GHd 9% &, & HFd 39 (A) FH FE rgor
gl / Bending moment at the free end (A) of a cantilever beam of length L with
concentrated load "W" at the tip is

W
= I z
(a) @S/ Maximum (b) =T/ Zero
() WL d WL/2
T ST AR @ T WfERd: ————— W A HIAT &1 /Strength of a beam section
primarily depends upon

(a) <hdol 3H PIA-HaFUTd TSR/ Its cross-sectional shape alone
(b) HeFUS HATSYeTH /Section modulus
(c) &S HATH/Length alone

(d) STET $RVT/The external loading

3TEHAOT &7 HEQ fAdedd @ — &1 / The most economical section in bending is
(a) 3113—@#2]? / I:section

(b) FedrpR a2l / Circular section

(c) 3TTARR Heel/Rectangular section

(d) DeTer JereA/Channel section

m'cﬁ 3TCRTC|'UT ﬁ'é‘ljﬁf — 9TEETEI / Maximum shear strain occurs on
(2) Tfeager st/ Principal planes

(b) RfFEger wa=t & @y 45 f33f1/45deg. With principal planes

(c) TifFgge <t & @y 90 f33f1/90deg. with principal planes

(d) EQ'{iﬁ |31/ All of above

6 CI44/15



18.

19.

20.

21.

Wm?wwwmﬁﬁﬁﬁ@m——ml / Hoop stress induced

in a thin cylindrical shell due to internal pressure will be

(a) delel/Tensile (b) U/ Compressive
(c) 3TUEYUT/Shear (d)  Uas/Torsion
Arr few e, sRomte fRdr i\ WE@TW—— gl / The bending moment

diagram in a beam subjected to loading shown below is

w w

!
P L

(a) Y@/ Linear
(b) IXaeda/Parabolic

(c) Fecleilal foed # W 3 3uF ¢ Wada%/Linear i cantilever portion and

thereafter parabolic

(d) 39d%d H & wh 8 761/ None of the above

maﬁaﬂwﬁ———‘»ﬁﬁ%ﬁﬁmﬁ?ﬁaﬁrwwwaaﬁ%mml / The survey in

which the curvature of earth is ignored is termed as

(a) SFOTA TA.TUT/ Geodetic survey
(b) TTIERT HAETUT/ Aerial survey

(©) THANT TIeTuT/ Plane survey
(d) mﬁmﬁmﬁaﬂm / Geological survey

Tfeqor & 3HTHUE — B 6 1/ Offsets in surveying are

(a) ®rg IR AF-AEA/ Chainlines out of alignment

(b) TA-oMST ¥ BIC HAYA/Small measurements from chainline

() "‘{@FIT FdeToT # AT 9T ATY/Measurements taken in chain survey

(d) 39deFd A & U 3 7El/None of the above

7 CI44/15



22.

23,

24.

2D;

26.

T, Shaa a1 698 R F 3faRea, 3iferEmedsr & forw st gar & wara W e fam sirar § a9 FHic
A 1A dfdae ————— o 30 FRIT ST HFATE 1 / When the effect of wind is considered

"
for design in addition to dead, live and impact load, the permissible stress in concrete may be
exceeded upto a limit of

(2) 40.3% (b) 50.3% () 3333% (d) 43.33%

T3t & et Arve o Petaf@d A @ i3 3THIOT I 3T fRAT ST HAT &2 / Which of the

following instruments can be used for direct measurement of directions
(a) TISHT HIR/Prismatic compass

(b) TdeTH HITH/Surveyors compass

(© SQ%&)W # ¥ FI5 #fi/Either of the above

(d) 39IFa A ¥ v o g1/ None of the above

gEgThr 9 ————— FHAEIHAT H Heig £ 1/Hydrographic survey deals with mapping of
(a) &3 STeMAT/ Large water bodies

(b) &ST Hetll 3hs/Rainfall data

(c) Yddg &¥/Hilly area

(d) eM8Y/Cities

W gdeTor gaw 37U 9 § 91/ Chain surveying is most suitable when

(a) WasaRiF @Y Eqﬁ-T ‘{U‘f T Y AT 0 !g?h’ §/Ground is fairly level and open with simple
details

(b) &7, RTIR A BIEI§/ Area is small in extent
© 3 ‘3\?11?1' X T3t < 379877 ¥/ Plans are required on a large scale
(d) T T/ All of these

HIROT J2T yaford Fade F T ard A #1536 d#88 ———— &1 / The Indian

standard code of practice for plain and reinforced concrete is

(a) IS456 (b) IS 875

(© 15800 (d) 3udFd # & TS o 7€/ None of the above
8 ClI44/15



27

28.

29.

30.

TAfat@aa & O sl Hga &Har ey 0s &7 /Which one of the following can have
highest bearing capacity?

(a) SN =eld/Hard rocks

(b) TIET SiTef, Heled AR Yeeh/Coarse sand, compact and dry
() H&TH dIef, grem 3 s/ Fine sand, loose and dry

(d) ol WiesT Wgel/Black cotton soil

IR et F A F (SsrS = &), 7R i FATE HTHAT Sehadm — e OfATRl/
In case of rectangular foundations (width=B), the maximum permissible eccentricity of load is
limited to

(@) B/2 (b) B/6
(c) B/4 (d) B/12
HIS g [ IS & At 3T FHSY FROT ———————— g1 /If a foundation has failed, the probable

cause could be
(a) 3HaHcT Fr FHAA 93T/ Unequal settlement of subsoil
(b) EREAT & AR HT FHART [T/ Unequaldistribution of weight of the structure

(c) TIIAT @l ﬁra:%r S{ﬁ? # afas gferd/Horizontal movement of earth adjoining the.
structure

(d) 3udFd # & F$ 871/ Any of the above

f&as #3/Quick sand

(a) dg EITE‘T\B’WHT IGIEED F_I}H FHR T8/ Is the sand that immediately accepts moisture

(b) d@ El‘IFj'\EﬁHT tarafa s CIEGE:] W HESIGIH %’/ Is the sand that expands when moisture is
added

(©) mﬁmﬁﬁgw%mﬁwmmﬁm%maﬁqmmmﬂﬁw
A qat 7 v R 1 goret gt €1 / A condition is created in saturated thick layers of

loose fine sandy soils when disturbed either due to vibrations or pressure of flowing water

(d) e fafee & 3 &g & e # 39T foRar ST gl / Is pure silica and used in glass
industry

9 CI44/15



51

3z

33.

34.

& ROT Ueh 3TC TET STAFRAT &1 / An arch may fail by
(a) 9erf F 3rqedor /Crushing of the material P
(b) U ST Ye2R & gHY T HIHAT & A1/ Sliding of one voussoir on another
(c) 3TATURT & 3HTH TGEAT/ Uneven settlement of abutments
(d) 3?{@3—'&‘ H ¥ #I5 a1 Fsf/ Any or all of the above

ardreldhefed H—— oo oanfaer g1/ Air conditioning involves control of
(a) 3THUME F ATIHA/ Surrounding temperature

(b) sTH/Humidity

(© g HIIUT/ Air circulation

(d) ﬂéﬁ—?—f FHY/ All of the above

[EZREEE ?I?Iaﬂﬁ' T 3T Rufd ———— ¥ / The necessafycondition of equilibrium of a
body is

(a) el & T &fGF el & Sy Sig AT BT dIfgT| / The algebraic sum of all the

horizontal components of the forces must be zero

(b) et & mfraw‘m "CH F ST SlE T g AIRTI / The algebraic sum of all

vertical components of the forces must be zero

(c) ﬁ?m%gq?aa?*aﬂqyﬁ WWH’E?];FJ@FTI'ilT%'(’l/Thealgebraicsumofﬂle '

moments of the forces about a point should be zero

(d) 39gFa FM/All of the above

HIUROTERT FARI U i 9T o SR & HROT FaierT et 0T — @ 21 / The

maximum bending moment due to moving load on a simply supported beam, occurs
(a) @8 ¥ 9T/at the mid span

(b) HHAYAT TX/at the supports

(0 ¥R F MA/under the load

(d) =1H # §I STE/everywhere along the beam

10 CI44/15



35,

36.

B7.

38.

39.

FPIC H HoATH FANSS &I FHATAT ———— FI SRUT BT &1/ Addition of calcium chloride

in concrete causes

(a) §&d daf/Increased strength
(b) worE 3™ F Heldi/Reduction in curing period
(c) AATATEN ﬁ_ﬁa?f/ Retardation of loss of moisture

(d) sq'éaamﬁ/All of the above

WF@WWW?WWWW———?W%I / An aggregate is said
to be flaky, if its least dimension is less than

(a) 2/3 HET TATH/ 2/3 mean dimension
(b) 3/4 AT 3TATH/ 3/4 mean dimension
(c) 3/53ATET HTTTH/ 3/5 mean dimension

(d) 5/8 AT ATIH/ 5/8 mean dimension

TRt 3T 197 & 379 90T Jaelel — Sl YR a1 o oI Tere fhdr Sidr &1 / Shear

reinforcement in a RCC beam is provided to resist
(a) fawor s/ Diagonal tension

(b) Feha TaEer/ Bendi‘ng stress

() s crf?rar»r/ Compressive stress

(d) fBEOT 379%®IUT/ Punching shear

9= & 9Tell T pH Hed - q T BIT TR T| / pH value of drinking water
should be in the range of
(@) 1to10 (b) 2toé6 (c) 65to85 (d 85to10
IIATASAAT deiel H I8 U 3T Teh el HSR Pl ————————— FEd ¢l / A steel member that is
primarily loaded in tension is called
(a) TIS/Tie (b)  2SATAHA/Tie or beam
(c) TEe/Strut ' (d) TEeE/Sling

11 C144/15



40.

41.

42,

43.

oleefT & T 59 3TFes 891 & a9 HEIAEAT ——— & [T IS "erd a1 | / While

estimating for plastering, usually no deduction is made for -
(a) &YAT % 3I/Ends of beams

(b) 0.5 #H. g% F BIT BG/Small openings upto 0.5 sq. m.
(c) YU I 3H9/End of rafters

(d) I9dFa @f/All the above

e T 2 1m TS F T ST &5 A B 3 T g §| i A 200mm T T FS e 3
100N 1R 9 & 3R g@Y @15 &0 & &3 & forerell 3R o T HR 97 §| I &3 & 79 R $1 815
%mm%ﬁmﬂﬁgmﬁq&%mﬁmw%?mnehsﬁc rod of length 1m hangs

downward from a support. In one load case, 100N load is applied at 200mm from the support and
in the other load case, same load is applied at the bottom end of the rod. If the self-weight of the
rod is neglected, what is the elongation in the second case compared to the first case

(a) HHIA/same (b) ET"J_E:ITEF»HIZ times less

(c) 57+ HTAH/5 times more (d) _ 2.5 37 HOH/2.5 times more

v ReATes &3, forae ¥ R $f va gar WHld HR T H1 AT G2 # Fera X 7 v HfaRad MW
@f?’gﬁ-?f Wa’gﬁgﬂmaﬂ?‘r% I a‘r?é'qfa' T 3Feqqrd 89T/ The ratio of elongation in a prismatic

bar due to its own weight was compared to another similar bar with same weight and an~
additional load of W at the free end in the direction of weight will be

(a) 1.2 by 13
() 41 (d) 14

T SEITET AR 379 T AR & efieT FeaTer R 7 oeeht g3 §| A& $TAT 1 &eTelr 8000 kg/m? 3R
3FTAT Tfaae 200 N/mm? § &t Rl siaTé 7 qR-IEaT, fawerar & fem seafer fee 3 e s
THhaT 8? AT of g =10m/s2. / A steel wire hangs vertically under its own weight. How much
length of wire rope can be hanged vertically without failure, if the density of steel is 8000 kg/m?

and allowable stress is 200 N/mm?2. Assume g =10m/s?

(a) 3INAT/No limit (b) 25m
(¢ 0.25m (d)  2500m
12 Cl44/15



44.

45,

46.

47.

T 3T, T detel ol P a7 o T o G0 H SHR WA HTE FIC A §1 &89 A FT O FITH
gfavoras fRm F A & aRome Fawd wied fade ao # —————— 3r9%9or gfdee giar g1/ A

»
member subjected to tensile force P and its normal cross section perpendicular to force is A. The
resulting shear stress in an oblique plane obtained by rotating the area A by an angle 0 in the
clockwise direction is

P P .
(a) ZCos220 (b)  -;Sin20
Pe.. P
(c) Sin220 ‘ (d)  5;Cos20

Ife U do 9gre UH-3iT aeiet 97 & T H ¥, dF 39RIUT ¥ g9 & foIw, 921 i 19T 9w goT
HHLY FAYHH ———— FH AT gl IigCl/If a ductile material is subjected to a

unidirectional tensile force, then to avoid shear failure, the material should have its shear strength

at least equal to

(a) 3T delel AL/ its tensile strength
(b) T=Tal WA I 3TT/half the tensile strength
(c) IIAT HUS ATHLA/its compressive strength

(d) oeted FTHE FHT g/ twice the tensile strength

mﬁﬁmmwwvﬁwmﬂﬁwmﬁmgmﬁﬁmmmmmm
gfaerer 500 N/mm2 §| IfE 919 & 25 bar a& arfed frar Sram 8, dF a3 & faw smf@ra Aers &/

A spherical vessel with an inside diameter of 2m is made of material with max allowable tensile
stress is 500 N/mma2. If the vessel is pressurized to 25 bar, then the thickness required for the
vessel is

(@) 2.5mm (b) 10mm () 5mm (d) 1.25mm

.

L m % 0F R &3 H 3ehT ¥ & 1 mm & oFa frr mm & & fopfa &

A cylindrical bar of L m deform axially by ‘I’ mm. The strain in bar is

1

1
1 1
() 0.001: (d) 100;
13 CI44/15



48.

49.

50.

L.

2m g & o 3cafs Te ARG U (EH) H et FORT o) st & aifast Feufa & ameifed fomar
ST &1 T FaY 7 3eToey Fie % 100 mm2 & JFd 2m €5 T ST 3Telat IR ggy Ay A
3TTEY FHTE &TFHe 200 mm? H o 1m FaTS Hl TogHT1H 3Teld & | FlS ST T E, 200 GPa FT
TEIHITAIHA &1 100 GPA B, A $EIT &3 & 3N A &l P 1 AT a1 9o 81T =g e, arfer &iferst &9
& g f1e T §ATT W/ An infinitely rigid weightless beam of 2m span is supported in horizontal

position by rods at each ends. At one end, the support is 2m long Steel with cross section area
100 mm? and at the other end it is 1m long Aluminium with cross section area 200 mm?2. If E of
steel is 200 GPa and that of Aluminium is 100 GPA, what should be the position of a force P from

steel rod side so that the beam remains horizontal

(a) @Al &8l 9T ocl THTA gt AIfgT/Forces on both rods should be equal

(b) ZEATT Tar AT el U?{mﬁﬁlﬁ @5 9 glaT T2 T | /Force on Aluminium rod should be twice
that of steel '

(c) TIFNfAIIa & & =T &l SEUI &5 W gl=AT AMFT|/Force on steel rod should be twice that of
Aluminium

(d) Hﬂﬂﬁﬁ /Unpredictable

40 m SETS FAT 10m T aTel T ol IY 20,000N Al Ve SR Wgerel fonT ST 81 Wefel: 0.8m T
frea g3 iR ear 1 0.05m F gf g1 AT CaTAT 3T €/ A load of 20,000N'is applied to a

cylinder, 40m long and 10m diameter caused an extension of 0.8m and the diameter to decrease by

0.05m. The Poisson’s ratio of the material is

(@) 25 (b) 04 (© 0625 (d) 025

AT WA § FATC 7 &1 el & 10 d T d /281 &1 3 A BIE AvFe T a7 HTeOT &7 el 1 e
g€/ Two solid shafts are made of same material and have diameter d & d/2. The ratio of the torque

capacity of bigger to smaller shaft is

@) 4 (b) 2 © 8 @ 16

T carar 3HeIdTe 0.25 ?HTWW@'WWWWW £/The ratio of shear modulus

to the modulus of Elasticity if Poisson’s ratio is 0.25

@) 04 (b) 025 © 40 d 05

14 : CI44/15



52.

53.

o4.

85,

56.

UF JTH-EROT (Fedielar §1) & Fara faY & goiel o Fei1fae dehel 3ME0T 3G 8197/ The bending
moment diagram of a cantilever beam subjected to a moment at the free end will be
(a) T3eIUT/Triangle (b)  3HTId/Rectangle

(c) Waed/Parabola (d)  °s Tdold/Cubic parabola

= gt R o) @ 3menRa v S & 7e 7 9 v foig (R Freran S § ar ifteas g
HTEOT M glar B | aﬁaﬁmﬁmﬁmwwmﬁﬁaﬂaaﬁm 1A % R T BISH JTEHAH

CET) m greT/ If a beam simply supported at its two ends is loaded by a point load at the middle

of the span, the maximum bending moment is M. If the same load is equally distributed over the
beam span, then the maximum bending moment, neglecting the weight of beam will be

@ M/2 (b) M ©  M/3 d) My4

arar Rt W Toar & 3eg T (FiaH) Wﬂﬁ'lé’ &/The equivalent length of a column fixed firmly
at both ends is

(@) 2% b) 071 © b () 05 ¢

& g3 WrEe &1 T A E = 200 GN/m?, TSAT AR G = 80 GN/m? g1 ST Hade AT K
grM/For a given material, Young’s Modulus E = 200 GN/m? Modulus of Rigidity
G = 80 GN/ma2. Its Bulk Modulus K will be

(a) 100 GN/m? (b)  133.33 GN/m?2
(¢) 222.22 GN/m?2 (d) 250 GN/m?
waﬁﬂmagﬂawﬁaﬁmﬁaqﬁ——-—— 39ET0T STAee §191/When a beam is subjected

to bending, the shear stress in the top fibre will be
(a) 3TAHIA/Maximum

(b) ITH/Minimum

(0 Y=d/Zero

(d) 3IITed 31eT/Insufficient data

15 Cl44/15



57,

58.

59.

60.

ST d dTel IR (ATAR) H Ueh 37X P 9l TohalT SITar & I aray 1 Frsam gapelr Y ameft 8 3R swar
3T F3RAT ST &, S ST T9T AT 8191T/A load P is applied to a wire of diameter d. If the radius of

a wire is doubled and reduced the load to half, then its Young’s modulus will be

(a) W/Doubled (b) 38 RaT/Halved
() HJHICET TEAT/Remain unaffected (d) V@ SI=/Becomes one fourth
T g T JeaTE HIAT & e FAT N ST Feohotarell JfeHaA Fafd st —————— F w0 &

ST STelY 81/ The maximum strain energy that can be stored within elastic limit in a body is

known as

(a) TUEFAY Impact energy
(b) TP FSAT/Resilience
(©) ﬁ%ﬁ:’f FSAT T ATATR/Modulus of resilience

(d) w7 ﬁ?ﬁ' Fail/Proof resilience

WWWW%W@TWWWW?,W——WM[%e load at

the free end of a uniform cantilever beam is increased, the failure will oecur

(a) AT H/at the middle
(b) 3TEg RAY 9X/at the fixed end
() X Qﬂﬁﬁgq/at the point of application of load

(d) T H “ch‘ﬁ'/anywhere in the span

STt T AT S , TR 7 A TS SR 1200 MPa 3R A1 7 3R qeet
wfdeel 300 MPa 81 afg 17 1 80mm 3g0S & AT F9 ToT & 3G 38T (Fgg e ufarad) g1/ In an

unsymmetrical beam under bending, the maximum compressive stress at top is 1200 MPa and the
maximum tensile stress at bottom is 300 MPa. If the beam is 80mm deep, the neutral axis from the

top surface will be

(a) 60mm (b) 64mm ()  40mm (d) 32mm

16 , CI44/15
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adrer ead 37aReT g AR, Aeleer
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AT / Time : {1430 55t Hrs. ¥ to 1600 &t Hrs. D
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Test Duration (Minutes)

w2t A . 60

No. of Questions

gsal & H. (Fa3 fle F
3remar) / No. of Pages (Other : |18
than cover sheet)

3#gfaT & AT 3r7eer / Instructions to the candidates

1. weet o wden 9T & w9 7§ WA S R @ At e Aeanee e S

The question paper is in the form of test booklet. All candidates will be assessed on
identical questions.

ol mﬁ@ﬁﬁmﬁﬁﬁﬁa@qﬁ%mm#w%eﬁzmw
ST o g Bl & ORI WeTE Fee o 1 NTANR AT P IR HET a2 3t
it g &3 Fory srewredf waea sy HeHl & eAer 9 W1/ A separate OMR answer sheet with

carbon impression copy is provided to all candidates for answering. After completion of the
test, the carbon impression of the OMR sheet will be detached and handed over to candidate by
the invigilator which should be carefully retained by the candidate for all future reference.
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zFs | e TeTd (T8fae saiifaaiier) / TECHNICAL ASSISTANT D
(CIVIL ENGINEERING)

1 Tl &aeT 3afieT ¢ IR/ SATISH DHAWAN SPACE CENTRE SHAR SET

g

Uehdl Sl ¥ AERART (FX1a) HT Tlsls T TR A e 7
The width of carriageway for a single lane is recommended to be

(@ 7.54/m
(by 6.5d/m
(¢) 3.75"W/m
(d) 5.5"/m

whie & Pt g T elfR i Al T AT AT w ogEer T S
arfel

Nominal mixes may be used with permission of engineer-in-charge for grades of concrete of
(a) M10 T =hA/ M10 or lower

(by M153AT TdH / M15 or lower

¢y M2Z03IT H/M20 or lower

(&) M253AT A/ M25 or lower

IRIAET T & FUT UIRash T3 F J8d &0l Uad IR ——— & D& 8
g1 |

Under transient wind load the lateral sway at the top of RCC structure shall not exceed

(@ H/500
(b) /250
(¢) H/400
(d) 25 mm

(STeT H TXTAT S a1 & / where H is the height of the structure)

Rl AR N7 F T FoE See YaiT RO ST ¥, AR 99 & s
e g gl

In an RCC beam side face reinforcement is provided if depth of the web exceeds
(@ 3001/ mm
(b) 500 fuH / mm
(¢) 700 frft/ mm
(@) 750 frft/ mm

¥
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e | deeirenl geras (RAfder §eif1aReT) / TECHNICAL ASSISTANT
(CIVIL ENGINEERING)

SET

Ife et vardt &1 aqor Wl fgat X @A g ¥, wer S g

If
(a

(b

a material’s properties are identical at all points, it is said to be

y  GAEN / Homogenous
)  AHGTR / Isotropic

(¢) WATEAT / Elastic

(d

y deT /Ductile

@ 7 O 9Ta &7 A FleT @r gl

Out of the following which is the unit of strain?

(@) TS TE1 / No unit
{) N mm

(¢) N/mm

(d) N/mm?

T di St Rl T BR W 0 § 3R @R OR & 99 Yee adr 8, el S §

A

beam which is fixed on one end and simply supported on other end is called

(a) T gEe e / Simply supported beam
(o) Yug Wﬁ / Propped cantilever

(¢) 3¥=1a¥d «fIH / Continuous beam

(@) TId §1H / Fixed beam

1
1

gl —— & S &

Pascal is equal to

(@ 1N/sqm
(b) 1N/sgcm
(¢) 1kg/sqmm

(d

) 1N/sqmm

4 Post Code No. 05
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SET

9.

10.

11.

12.

g, Tt 1 A9H HAIZLEH ¢l
Young's Modulus of mild steel is
fa) 2.1x10%kg/sqcm

(b) 2.1x10¢kg/sqmm

(c) 2.1x10%kg/sqm

(d) 2.1x108N/sqcm

Fhe F 3ed Ster-fAFT eTdrd = gl gl

Higher water-cement ratio in concrete results in

1.
7}
3.
4,

HSIE THH / stronger mix
dga¥ FIIRNT 7129 / better workable mix
FHSAR 2101 / a weak mix
HH scltfe / less bleeding

(a) 13 3@EE/1and 3 are correct
(b) 23 3GEE/2and 3 are correct
(¢) 13M2afHE/1and 2 are correct
(d) 134T T/ 1and 4 are correct

T TAATOT-HR 8 WG Sged e @i @ gl

For marine work the best suited cement is

@ @& ardiTr 9iéelE fAde /low heat portland cement
b) g FoRUT fAHT / rapid hardening cement

(c) TARH Uiteis f&@Fe/ ordinary portland cement

(d) areaT-88T Tolar f@#e / blast furnace slag cement

mmmﬁﬁqﬂ@gﬁzwﬁmwa:mma&aﬁm
ST TfRT|

For a simply supported RCC folded plate roof which is cast the form work is to be removed
from

(@) TH SIS Td FET H 3T 96/ one support and proceed towards centre

(b) GlAl TEAF Tq HET & 3R T/ both supports and proceed towards centre
() FEF UY TE& Ff 3R 9¢/ centre and proceed towards supports
(d) 3‘5@3‘?[ #F A FIT 51/ none of the above

5 Post Code No. 05
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I &7g+T 3aReT Fg AR/ SATISH DHAWAN SPACE CENTRE SHAR S ET

Fa | debeilehl Hergw (fafaer sshfaafier) / TECHNICAL ASSISTANT D

(CIVIL ENGINEERING)

13, aHI= (For) S o g, e & et qoit F ¥ fRQ A & R s

14.

15.

16.

Slump test is used to measure which of the following property of concrete?

(@)
{b)
(c)
(d)

(a)
(b)
(c)
(d)

feeT39T / Durability

SHTAETAAT / Workability

URETFI AT / Permeability

g Ay / Compressive strength

g VAT f8HE / High alumina cement
caiteT afear AT / Quick setting. cement
ad FHOIRUT THHT / Rapid hardening cement
A7 Fsata BAT / Low heat cement

53 355 WIURVT didls R & fRre T

Specific Surface of 53 grade ordinary Portland cement should not be less than

(a)
(b)
(c)
(d)

2500 Sgcm/g
2000 Sq cm/g
225 Sqm/kg

2250 Sq m/kg

YR 9icals Qe & g 30w uaes §

Largest constituent of ordinary Portland cement is

(@
(b}
{c)
(d)

Ca0 k :
Si02

Al203

Fez03

g (S WM W) HAIfET R ¥ fFa voR & e &1 w2er frar s

Which type of following cement is used for mass concreting work?

q & BT gl Wiy

Post Code No. 05




Sy

iz/m | dehellenl Herde (Fafder Sonfaafar) / TECHNICAL ASSISTANT D

(CIVIL ENGINEERING)

. /1 AT g TANET S5 YR/ SATISH DHAWAN SPACE CENTRE SHAR SET

Fud

17. &F & 95 faplad SIRT 5w Hra-Qee W BT B

In a beam cross section the bending stress is zero at
() oY WIEER UL/ top fibre

(b) el WISEY YT/ bottom fibre

(¢ Tashra 3787 9/ neutral axis

(d) SaH ¥ FIS 7T/ none of these

18. e uidadsT AR T 99T TR Srar g

A doubly reinforced section is used when

(a) FfARea Feaw H Twa ¢/
additional safety is needed

(b) NH F 3T Sehal ITEOT Hgel HI 47T /
beam has to resist high bending moment

(© = A U8 3R AT ard HEr J deenEse i aHar/
beam has to resist tension at top and bottem face

(@) N F1 HHER DfAT g/

size of beam is restricted

19. 39 Aol T F Fg T & o A 1 A F T §
The ratio of Young’s modulus of high tensile steel to that of mild steel is about

(@ 0.5
1.0
¢y 1.5
(dy 2.0

20. WAERUT & Ugel a3 @l et 93 dae w fosfay wera &, Y ufenfva famm i &
The material in which large deformation is possible before rupture is termed
(a) SIRAT/ Brittle
(b) YATEAT/ Elastic
(¢) deIdl/ Ductile
(d) TelliEcah / Plastic

7 Post Code No. 05
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. 4 TelTer &ae7 37dRet e AR/ SATISH DHAWAN SPACE CENTRE SHAR SET

21.

22.

28

24.

3T w1 aRfAe Afer gmT gem

Initial setting time of OPC shall be

(@) U T & A ALY / not less than 1 hour

(b) U ©¢ ¥ 379 =¢€1/ not more than 1 hour
¢ 30 e T FH 8T/ not less than 30 min

@) 30 A ¥ 3t &l / not more than 30 min

fafe & 9w o & @ fFw aor & PR & & @ & Rfer /R @7 g
ferar mar &

Le Chatelier’s methed is used to determine which of the following properties of cement?

(@) TfeT AT / setting time

(b) THIIAT/ consistency

(©) TAGMSET / soundness

(d) BT (a) 3R (b) / both {a} and (b)

E&aaqqmmﬁﬁwm—m—%ﬁﬁﬁmﬁﬁmm%i

Blaine’s Air p:armeability method is used to determine

(@ {He F s HAg / Specific surface of cement
() TaFT Hr REWar / Soundness of cement

© afea Tgag/ Setting time

(d) EQ?:‘I)W px i ﬁé el / None of the above

AT 9 (A2 & ¢ 1 wgofan itad ddss awred e @ &7 =8 2 ik

The minimum average compressive strength of common burnt clay bricks shall be not less
than

(a) 3.5 Kg/sqmm
(b) 3.5N/Sqmm
(¢) 7.5N/sqmm
(d) 10 N/sqmm

8 Post Code No. 05
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is/s | dehelleh] HgTdeh (RATder SNTaAIRT) / TECHNICAL ASSISTANT D

(CIVIL ENGINEERING)

25. 50t § A &7AdT arel A FRST & waitld EOT sl &1 3as 3o fasiaor &

Maximum allowable deflection of gantry girder supporting EQT crane of capacity less than 50t

26.

27.

28.

{a

(b

) ¥H/span/250
) 4/ span/500

(c) ¥/span/750

(d

A

) ¥/ span/1000

ot & 3T T A5 Fe500 & w0 F ol & O sae &= Fr

particular grade of steel is termed as Fe500 when its value of

(@) HANST wfade 500 N/mm? &/ compressive stress is 500 N/mm?
() Widwer dfdder 500 N/mm?/ yield stress is 500 N/mm?
() 3fdeT gfderer 500 N/mm?/ ultimate stressiis 500:N/mm>

(d

M

) TeT fdsel 500 N/mm?/ tensile strength'is 500 N/mm?

PN Toe A5 & & foheant A7 ¢

MPN index is a measure of one of the following
(a) I a?ﬁﬁm/ Coliform bacteria

() r3IST/BOD

(c) @3NS/ COD

(d) FORT/ Hardness

j2ll

T B § T TR o el &

exible pavements derive stability primarily from

(@) el gcclleh, FHONT TNUT Ud HHAH/ aggregate interlock, particle friction and cohesion

(b) hael THeIeT/ cohesion alone

¥

(0) TogA=lT WA i FsteT AfFd/ binding power of bituminous materials
(d) TALT I HT 7T T/ flexural strength of the surface course

9 Post Code No. 05
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/e | depsileh] Harae (Fafder Soifaaar) / TECHNICAL ASSISTANT D

(CIVIL ENGINEERING)
29. ¥R & AT & $T & FA HTAWT —— gigerd @ 310% 78 Qa1 Ty
The water absorption of bricks shall be not more than —— 9 by weight.
@ 5
v 10
() 20
@ 30

30.

31.

32.

ITSTH ARk & TR WA 73T A7 7 de o1 9fasus 3R g amiee

As per IS the standard modular size of common building bricks shall be

(a)
(b}
()
(d)

230 x 110.x 70 i /mm
200 x 100 x 100 f&ft / mm
190 x 90 x 90 fasfi / mm
230 x 115 x 75 ¥l / mm

7 1ot 3R 28 &7 & ERWT Rsic hfshe 1 AHEE ——— FosTeT 3qarr &

Approximate ratio between the strengths of cement concrete at 7 days and 28 days is

(@)
(b)
(c)
(d)

3/4
2/3
1/2
1/3

IS 456 ~ 2000 FF & HFUR M25 FHshlc HT JATEAT HT AT ¥

Modulus of elasticity of M25 concrete as determined by formula of IS 456 — 2000 is

(a)
(b)
(c)
(d)

25 MPa
250 MPa
28500 MPa
25000 MPa

10 Post Code No. 05
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suitlizra | debeliehl TeTdE (TAfder §alifaRer) / TECHNICAL ASSISTANT D
' (CIVIL ENGINEERING)
33. W9 L & @A A gAdr dars, OH |l B8R 3Ue ®UE W gHidd § W
Toie @ WAT T e B

The effective length of a column of length L with both ends effectively held in position but not
restrained against rotation is

(a) 0O5L
(o) L

{c) 2L
@ 15L

34. Far & RiFd 3T ———— 7 I g gl
Void ratio of soil is the ratio of
(@) RiFT & aRAwr & Fa gRATUT / volume of voids to total volume
) RiGa &1 aRwor 9 31| 1 9RA0T/ volume of veids to volume of solid
(c) STl T IRAT § XFa sar 9107 f volume of water to volume of voids

(d) BT T SIS T80/ none of these

35. @awmﬁmmmm(@)wﬁmﬁﬁmm?%gﬁma
(PI339A) wETT fRar ST dehdT g1

Which of the following type of foundations can be provided when the soil at shallow depth is
having very poor bearing capacity?

1. gUFhd Carces ] qjﬁ?T/ Isolated column footing
2. YISd W33/ Pile foundation

3. #HT W33/ Mat foundation

4. d9 W33/ Well foundation

(@) 23MW/and4

() 33fit/and 4

(¢) 23W/and3
(d) 13M/and3
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36, FRET RCC T @7 Ly AR i # We § 3R Lx dER W H @, IR

AT Te e fFar e & & Ly/Lx gEmi

Ly is the length of larger span and Lx is the length of shorter span of an RCC slab. If the slab is
to be designed as a two way slab, Ly/Lx shali be

. aSeT GasT 3afeT g IR/ SATISH DHAWAN SPACE CENTRE SHAR S ET
%A

@ 0.5 q 931/ greater than 0.5
® 1.0 o 31/ greater than 1.0
© 2.0 ¥ 931/ greater than 2.0
(d) 2.0 & BT/ less than 2.0

37. e 3q verd & Aeigeh % v 3w graw wew el
Partial safety factor for material strength for concrete shall be
(@ 1.5
(b) 1.0
cy 2.0
(@ 1.15

38. S-STeT A WAl o AAHAH AT HEUT ©
Maximum allowable concentration of iron in drinking water is
(a) 1.0 T 7. 2/ mg/litre
() 0.05 T 7m. feet/ mg/litre
© 0.30 fo. m. fert/ mg/litre
(@) 0.03 T am feret / mg/litre

39. ameor &t & 100 lpd T 10000 3R & F-IYft & FARAT el &F FoIw SHefed
FANT F 20 widwd Sufder uEs & ———— rdlenaE Amr o2 ppm F
3R B

The amount of bleaching powder containing 20% available chlorine needed to chlorinate a
rural water supply covering a population of 10000 at 100 Ipd at the rate of 2 ppm is

(@) 107%. 7M./ kg i
() 5T 7. /kg

(© 0.2% . /kg

(d) 20%F. 7. /kg
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40. Frelr FURN FeT A gz T o 8 OFRR vqE @ E

41.

42.

43.

The predominant mineral responsible for shrinkage and swelling in black cotton soil is

(@) gonee/ illite
(b) HIATZE / kaolinite
(c) W1/ mica

@) HieAReEE / montmorillonite

85/25,85/40 s 35 A fagaA BIS avfienor foham arm &1 woa aun efad dwan
shaeT: Tefda foRar a4 Bl

BIS Classifies bitumen into grades 85/25, 85/40 etc. The first and second numbers
respectively refer to

(@ FgeleT ﬁg d dEe / softening point and penetration

(b) T T HaelT ﬁl@/ penetration and softening point

(¢) iRl feg 3R Y=/ flash point and penetration

() e &g 3R g g/ flash pointand softening point

GaeTel 8 foiet & @ sl &1 fowswaArs 9t 3

Which of the following is a disinfectant method for drinking water?
(a) 3ITFdeToT / Oxidation

(by Q=1 / Aeration

(¢) JHddIE / Sedimentation
(d) FANITeIehT0T / Chlorination

TERIET AaT & garg &l afed gidr &, 59 99 & 3uRIEr-vare & FRoT SHH
Vel g Hea Y I Ted el §, T —————— FeT Jaw g

A flow condition occurring within a cohesionless soil when its effective pressure is reduced to
zero due to upward flow of water is known as

(a) WIS I/ Fine sand

) T&Fa® ¥/ Quick sand

(c) AfZTH 3T/ Medium sand

(d) JoT & ﬁ'é 781/ None of these

L}
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44. 3 TH 456 & FTIR ——— A ¥ A 93 9 g FIATHT F7 9T 7E g
As per IS 456 Splicing shall not be used for bars larger than —-———— dia
(@ 25/ mm
(b) 28T/ mm
() 36Tt/ mm
(@ 32Fft/mm
45, I[OTacl Hishe gd =T AT e H=l ¥ FA AL gl AR

46.

47.

48.

The PH value of water for quality concrete shall be not less than

(@ 2
(b) 4
(c) 6
() 12

RCC 8 STol 31 9T FeR1Ss HT HEHTA 3ega WA gran

Maximum permissible limit of chlorides in water used for RCC shall be

(a
(b

y 2000 fa. mm. /i@t / mg/litre
y 500 . 7. /f7ex / mg/litre

(¢) 300 M. . /feret / mg/litre
(d) 400 . m. /X / mg/litre

-

IS 456:2000 & 3IHTER 3T &THCT Hishe FaT AIMGT

As per IS 456:2000 high strength concrete shall be

(@) M40 3R FIT/M40 and above
() M503R >YY/M50 and above
) Me60 3R >UI/M60 and above
(d M803R >UI/M80 and above

1S 456:2000 & 3IHTHR IRET H fewan f@ac & @ g Tz
As per IS 456:2000 Maximum cement content in RCC shall be

@ 450 FF. . /M3 / ke/m? “

(o) 400 k. m. /43 / kg/m?

(¢) 600 f%. mr. /d3 / kg/m3

@) 500f%. m./ =%/ kg/m?
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. 4 T g HARE shg IR/ SATISH DHAWAN SPACE CENTRE SHAR SET

49.

50.

Sili.

52.

97T & & i T1 39IR ST T AT A HA BT gl
Which of the following treatments reduce the salinity of water?
(@) 3IJHIGH /sedimentation

{(b) ot/ filtration

{¢) 3cshd WRTHIUT/ reverse osmosis

(d) FARITAFIOT/ chlorination

20 NeT/Ahs $HT &7 A 216000 WX &THAT dlel Gl I THT & T F e TAY
CEE |

The time required to fill a water tank of capacity 216000 liter at a rate of 20 liter/sec is

(8) 2 ®eT/2hours

by 3 HeT/ 3 hours

(¢) 144 WH3/ 144 seconds

(d) 144 fASIE/ 144 minutes

fordll T A STl T A AIAF 5 m AR20 m T A AT 75308 R g, aF FAew: g A
IRB & e aUd a1l HT U gl

The ratio of pressures between the point A and B located respectively at depths 5 m and 20 m
below a constant level of water in a tank is

(a) 1:8
by 1:2
() 1:4
(dy 1:16

30 m ARF a7 AYA F SR 0.05 m & BT IR IR AR A TS g 300 m RS
foram aram §, ar areafas g gl

A 30 m metric chain is found to be 0.05 m too short throughout the measurement. If the
distance measured is recorded as 300 m then the actual distance will be

(@) 299.50H/m
() 30150 /m
(¢) 300.50d/m
(d) 310.50 dt/m
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. /‘ TATer raeT HET g 9R/ SATISH DHAWAN SPACE CENTRE SHAR SET

53. forely @wew wufda &\ @ sfRewas Retuor Va7 L, Sgea ameel 1, 9T Asgew E,

54.

55.

56.

¥z A g o p@ wIRAA B,
Maximum Deflection of a simply supported beam of span L, Moment of inertia I, Young’s
Modulus E, subjected to a point load of P at centre is

(a) PL3/3EI
(b) PL3/48El
(¢} PL?/3EI
(dy PL2/48El

g A wifga 5 P & Wy TRE Aeed wala W w1 ftead dee ImEnr S L
R ¥l

Maximum bending moment in a simply supported beam of span L loaded with a concentrated
load P at cenire is

(@ PL/2
(b) PL/4
(cy PL%*/6
(d) PL?/8

Tifed ¥R 8 Hafdd P, Feha d1F F HTUHAH Sahel HTGUT F TIAL ¢, af T
B Bl

The maximum bending moment in a cantilever beam of span L, subject to a concentrated load
P at free end is’

(a) PL/4
() PL/8
(c) PL#/4
{d PL

Tt R @ wERT P & @y R e wnide de w1 wReaR S e aed
W I gl

Maximum bending moment in a simply supported beam subjected to a concentrated load
occurs at

(@) TAZEIA/ midspan

(b) FIF TH THR/ one of the supports i

(c) &l JTER/ both supports

d) Wifga 9 & TA 9/ at the location of concentrated load
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57.

58.

50.

60.

IS 456:2000 & 3JAR IRERN HRT &7 Fhie H =q7aq I &7oar
el

As per IS 456:2000 Minimum grade of concrete for RCC work shall be

(@) M15
(o) M20
{¢) M25
(dy M30

HIEIOT (W) ool A A¥FTA g ——— 9 34 7 gl
(Are: fim i gure weTE d 2)

The maximum spacing of shear reinforcement shall be not more than

(Note: d is the effective depth of beam)

(a) 0.5d
() 0.75d
(c) 1.0d

(d) FAH A IS =781 / None of these

[S456 & 3TAR HIcTH H IAGEd Yool B +IeTeTd 419 ¢
The Minimum diameter of longitudinal reinforcement ina column as per IS 456

(@) 12 frfi/ mm
(b) 10 fgt/ mm
(¢ 16fH/mm
(d 8T/ mm

8 RCC w9 &7 was v d@iEg 1.3 & O w9 & e
fhar ST §

The length to width ratio of an RCC slab is 1.3. The slab is to be designed as
(a) UHAIHI Teie / One way slab

(b) SIaYHl T/ Two way slab

(c) Wele T/ Flat slab

(@) TS & A FS AL/ None of these
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10.

Y aEAfISS U Ueh WIS TAI/3UET Tehsl o |1 i sieer, Sigi fafaer seax @& (1), (b), (o) aur
(d) T3] BI3T| 37H ¥ ek &1 3cc | & / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (a), (b), (¢) and (d). Only one of
them 1s correct.

AR fie T QT 7T 3qeRl & LA § UGl 34 Ik @ Fed e qur sivasm
e W @A ¢ Had oo 39T sodF &fer Uise el a1 &1 YA Y / Read the instructions

on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for writing on OMR
Sheet and marking your answers.

ol IEJASS THR o T & TN Sl g FART dllel 3k gial, I el of 3ol W T T
IIT 3ol Y U 37k T AW | Ueh U & fafder 3eawl &' srad 3ca Hi=r seanml 1 All

objective type questions carry equal marks of THREE for a correct answer, ZERO for no
answer and minus ONE for a wrong.answer. Multiple answers for a questlon will be
regarded as a wrong answer.

TT qREdehl & i 3R & SO0 $lel 7 AGLB Ircodn DAY B REfad) B o § St
FUAFR e A BT 7T Fvs qU Jorgel .8 q foraar siAard g v 7 &« W 3aR
qfeaehr I Siter =er @ Suelt| / Question booklets have been marked with A or B or C or D

or E on the right hand top corner, which is mandatory to be written on the OMR sheet in the
box and bubble appropriately, failing which, the answer sheet will not be evaluated.

HIGRAF Gl W I® o] G A G0 a0 Red FURT 1 STAET X Thd 81 3009 § 1
e ag & et / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided.

S R T & fT Sg & HISA o9 ¢ §, 37 W HIA FHT FolIg 7 S| 31T 37 TeT g
T JdUT 915 H ST U g F "Hd ol / Do not waste time on questions, which are too
difficult for you. You can go on to other questions and come back to the difficult ones later.

mtmaﬁw(nmwg@ﬁﬁamwﬁamaﬂ(z)aﬂwmm
gitasr faders @) v & qur Bl st groma & st o= AT @ & ST/ At the end of
the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR

Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

1T foraor o <= Tl ea 7 E<E @1 41, 31sh fomor @ wee @ / In case of any doubt in any
question between the language versions, English version will prevail.
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